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printf(" Welcome to C programme”);
printf("\n Y our brother Ahmad Alrabte");

printf("\n My phone number is 7897802634");

printf("\n My Email Addressis Ahmad_Engineer21@yahoo.com");

printf("\n My Permanent Address( Libya-Gharain-Alrabta)");
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! #include<stdio.h>
#include<conio.h>
| main() |
{

clrscr();

Int a,b,sum,sub,prod,div,quot;

a=Do;

b=3;

sum=atb;
| sub=a-b; |
| prod=a*b; |
div=a/b;
| quot=a%ob; |
| printf(" The sum is %d + %d = %d",a,b,sum); |

printf(" \nThe sub is %d - %d = %d",a,b,sub);

printf(" \nThe prod is %d * %d = %d",a,b,prod);

printf(" \nThe division is %f / %f = %f",a,b,div);
| printf(" The quotient is %d,%d = %d",a,b,quot); |
getch();
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________________________________________________________________________________________________________________________________________

#include<stdio.h>
#include<conio.h>
main()

{

clrscr();

sum=atb;
sub=a-b;
divide=alb;

printf(" sum=%f \n sub=%f \n prod=%f \n divide=%f)" ,sum,sub,prod,divide);
getch)

B

- scanf(* %f \n %", &a,&b);

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

_______________________________________________________________________________________________________________

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

QQBJQG@&JUJM\&MQME)%GAU);@SH
ol * Jghall = hlatiuadl Aslia

#include<stdio.h>
#include<conio.h>

main()

clrscr();

float a,b,area;

printf("Enter the No.:");

scanf("%f %f",&a&b);

area=a*b;

printf("\n The area of rectangle =%f",areq);

getch();
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#include<stdio.h>
#include<conio.h>
main()
{
clrscr();
float base,hight,area;
printf("Enter the No.:");
scanf("%f %f",& base,& hight);
area=0.5* base* hight;
printf("\n The area of rectangle =%f" ,area);

getch();

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

e b sllsde pull Cluny sy el i) |

————————————————————————————————————————————————————————————————————————————————————————————————————————————————

#include<stdio.h>
#include<conio.h>

main()
{

clrscr();

float u,at,v;

printf("Enter the veriable:");
scanf("%f %f %f",&u,&a&t);
v=u+(a*t);;

printf("\n The Velocity =%f" v);

getch();
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#include<stdio.h>
#include<conio.h>

main()
{

clrscr();

float u,at,s;

printf("Enter the veriable:");

scanf("%f %f %f",&u,&a,&t);

s=(u*t)+(0.5*a* t*t);;

printf("\n The displacement of partical =%f",s);

getch();
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#include<stdio.h>
#include<conio.h>
main()
o
clrscr();
" float basic_salary,d.daded,hrasalary amount,hx1x2: i
printf("Enter the basic_salary:\n");
scanf("%f %f %f %f",&basic_salary,&d,& h,& ded);
. da=basic_salary*(d/100); |
 hrabasic_salary* (W100);
x1=basic_salary+dat+hra;
. x2=x1*(ded/100); |
salary _amount=x1-x2;
. printf("\n The Total salary =%f",salary_amount); |
getch();

________________________________________________________________________________________________________________
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#include<stdio.h>
#include<conio.h>

main()
{

clrscr();

float x,z,c,b;

printf("Enter the value of variables");
. scanf (" %f %f %f",&z,&c,&b); .
 x=((Z )P O)(ZF D) +(crO);
printf(" The value of x is %f",x);
getch();
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#include<stdio.h>
#include<conio.h>

main()

clrscr();

int age;

printf("Enter the Age:");
scanf("%d ",& age);

if(age>=18)

printf("This person can vote");
else

printf("This person can not vote");
getch();
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#include<stdio.h>
#include<conio.h>
main()
{
clrscr();
int a,b;
printf("Enter the Noumbers:");
i scanf("%d %d",& a,&b); ;
 if(a>b)
. printf("The number a=%d bigger than b=%d",a,b); i
else if(a<b)
printf(" The number a=%d smaller than b=d",a,b);
printf(" the nmber a=%d equal b=%d",a,b);
- getch(); '
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. #include<stdio.h> |
. #include<conio.h>
. main() |

{

clrser();

float m1,m2,m3,m4,m5,per;
printf("Enter the marks:");
scanf (" %of %f %f %f %f ",& m1,& m2,& m3,&m4,& m5);
per=(m1+m2+m3+m4+mb5)/5;
| if(per>=60)
 printf(lst div"); i
elseif((per<60)& & (per>=50))
printf("1Ind div");
else if((per<50)& & (per>=40))
- printf(" Hird div"); |
. elseif(per<40)
. printf("Fail"); i
. dse
. printf(" Wrong in entering please again"); ’
getch();
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. #include<stdio.h> |
. #include<conio.h>
. main() ;
|
- clrser(); 5
Lointi;
. for(i=0;i<=100;i++)
- printf(" %d\n",i); i
- geteh(); i

| #include<stdio.h> |
. #include<conio.h>
. main() |
o
. clrser(); |
inti; |
. for(i=300;i<=3000;i++) |
- printf(" %d",i); |
. getch();
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! #include<stdio.h>

t  #include<conio.h>

L main()

A

i clrser();

i float basic_salary,d,da,ded,hra,salary_amount,h,x1,x2;
. printf(" Enter the basic_salary:\n");
i scanf(" %f " &basic_salary);

. if(basic_salary>=30000)

| {

l d=60,h=20,ded=5;

| da=basic_salary*(d/100);

| hra=basic_salary* (h/100);
| x1=basic_salary+da+hra;

| x2=x1* (ded/100);

| salary_amount=x1-x2;

: printf("\n The Total salary =%f" ,salary_amount);

d=30,h=15,ded=2;
da=basic_salary*(d/100);
hra=basic_salary* (h/100);
x1=basic_salary+dathra;
x2=x1* (ded/100); .
salary_amount=x1-x2; |
printf("\n The Total salary =%f" ,salary_amount); |
} ;
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| #include<stdio.h> |
: #include<conio.h> l
l main() l
| { |
| clrscr(); :
l inti; !
5 i=0; |
: while(i<=10) :
| { :
: printf("\n %d " ,i); !
: i=i+1; ;
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g #include<stdio.h> !
i #include<conio.h> i
’ main() :

| clrscr(); |
| int i,sum; |
| i=0; |
I sum=0; I
| while(i<=15) |
| { |
| sum=sum-i; |
: printf("\n % d****%d " ,i,sum); :
! i=i+1; |
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_______________________________________________________________________________________________________________

l #include<stdio.h> |
| #include<conio.h> |
| main() |
| { l
clrser();
i int i,sum,avrg; i
| i=1; |
: sum=0; :
! while(i<15) !
| { |
! sum=sum-i; !
! i=i+1; !
| } |
| avrg=sum/15; |
: printf("\n Sum(%d)=%d" ,i,sum); :
| printf(" \n Average=sum/i=%d/% d=%d" ,sum,i,avrg); |
getch();
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(( for 4alsy (< while dlay Gl 5 jall saa Ll o) ) |

#include<stdio.h>
#include<conio.h>
main()

clrscr();
int i,sum,avrg;
sum=0;
. for (i=0;i<=14;i++) .
| { |
: sumzsum+i; :
}

avrg=sum/15;

printf("\n Sum(%d)=%d" ,i,sum);

printf(" \n Average=sum/i=%d/% d=%d" ,sum,i,avrg);
getch();
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#include<stdio.h>
#include<conio.h>
main()

{
clrser();
inti,);
for (i=0;i<=4;i++)
{
for(j=1;j<=i;j++)

printf("*");

}
printf("\n");
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| #include<stdio.h> |
| #include<conio.h> é
' void main() l

clrscr();
intibk;
printf(" Enter the No. which table you want");
scanf("\n %d" ,&b);
for (i=0;i1<=10;i++);
{
k=i*Db;
printf("\n %d * %d = %d" ,i,bk);
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- #include<stdio.h> ‘-
| #include<conio.h>

i void main()

' {

i clrser();

printf(* Enter the No. which table you want\n");

for (i=0;i<=10;i++); |

. b=7;

| { |
| k=i*b; |
| printf("\n %d * %d = %d" ,i,b,k); |
} |
. getch() .
) |

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

| (23) Ji
| 5 5iad (3al s bua L:Lg_g_\;.aLg\)J;\jm«_\\qﬂjm@hhe}m@b}&\i

fletie Libay gali ol o s 5 palll JWAdls i 583 pualic 10 (e

((u.w..qbd..sﬁh)\ AL hand) iy Ua (e g call ey b dag) ad)) |

. #include<stdio.h> :
| #include<conio.h> |
. main() i
: { :
i clrser(); i
l int i,j,mark[10]; l
| printf(" Enter the Mtrix No."); |
: for (i=0;i<=9;i++) |
| { |
; scanf("\n %d" & mark{[i]); |
| } |
: for(j=0;j<=9;j++) :
| { |

printf("\t %d" ,mark[j]);

________________________________________________________________________________________________________________
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————————————————————————————————————————————————————————————————————————————————————————————————————————————————

! #include<stdio.h> !
i #include<conio.h> !
‘ main() ‘

clrser();
int i,j,sum,mark[15];
printf(" Enter the Mtrix No.");
for (i=0;i<=14;i++)
{
scanf("\n %d" ,& mark([i]);
}

| for (j=0;j<=14;j++) '
| printf("\t %d" ,mark[j]); :
: ) |

sum=mark[O]+mark[1];
printf("\n Sum(%d)=%d" ,j,sum);
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! #include<stdio.h> !
i #include<conio.h> !
‘ main() ‘

clrser();
int i,j,prod,mark[15];
printf(" Enter the Mtrix No.");
for (i=0;i<=14;i++)
{
scanf("\n %d" ,& mark([i]);

| } |
| for (j=0;j<=14;j++) |

printf("\t %d" ,mark[j]);

}
prod=mark[13]*mark[14];
printf("\n Product(%d)=%d" j,prod);
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| #include<stdio.h> |
#include<conio.h>
- main(
o e
int num21,num2,old;
printf(" the year currently:");
5 scanf("%d",&numi); ;
printf(" the year of your born:");
scanf("%d",& num2);
old=num1-num2;
printf(" Y ou have %d years!\n",old);
| getch() |
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L 13) 5 o yuially ol () 5 ) il Ui 13) 5 - s o8 (=) 5,02 Lol 13
Sandlly o8 (/) 5L Jaal

o Leoaiind ol Jie Al all e 55 () gt Jeilesal) 8 ) 6L ) 5)) |

Slia Guaal e la gl cpall el A (555 8 ol o) 58 clpaly Hl) Jilie Ja |

(2%
Jal

 #include<stdio.h> |
 #include<conio.h>
. main()
o
! int numl,num2; !
| char enter; |
printf(" Enter (+or -or * or /):");
i scanf(" %c" ,& enter); |
i printf(" Enter thefirst number"); |
| scanf(" %d" & num1); |
| printf(" \n Enter the second number"); i
| scanf(" %d" ,& num2); |
if(enter=="+')
! printf("%d + %d = %d \n" ,numl,num2,numl+num2); |
! elseif(enter=="-') |
| printf(" %d - %d = %d \n" ,numl,num2,numl-num2); |
| elseif(enter=="*") |
printf(" %d* %d =%d \n" ,numl,num2,numl*num2);
i elseif(enter=="1") i
| printf(" %d/%d = %d \n" ,num1,num2,numl/num2); |
| else |
| printf(" Error in choice! \n"); |
getch();
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#include<conio.h>
main()

int num,x;

printf("Enter a number");

scanf("%d",& num);

X=-Nnum;

if(num<0)
| dlse |

. X=NUM; |
rintf (" [%6d=%d \n'",num,):
getch();
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————————————————————————————————————————————————————————————————————————————————————————————————————————————————

#include<stdio.h>
#include<conio.h>
main( )
{
int num,x;
printf(" Enter a number");
scanf("%d",& num);
if(num<0)
X=-num;
else
X=num;
printf("|%d|=%d \n",num,x);
| getch(); |
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————————————————————————————————————————————————————————————————————————————————————————————————————————————————

#include<stdio.h>

#include<conio.h>
main()
O
é clrscr(); é

inti,;

printf("The result is..");

for (i1=0;i<=100;i=i+2)

{

printf("\t\n the even number = %d ",i);

for(j=-1;j<=100;j=j+2)

{
printf ("\t\n the odd number = %d " j);

}
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 Caa sl aal s ey s i 5 e Al 51 10 JAasly s el )
| o X[A* X[2]

! ¢ a= Mql.a.d\aqu;q;)\dh_m.eihbé
X[7]+X[8] i
s T —
#include<stdio.h>
. #include<conio.h>
' void main()
{ |
 clrscr();
Lint i,x[10];
float & i

| printf("Enter the number");
| for(i=0;i<=9;i++)

e
scanf("%d" & X[i]);
)
a=(X[1]*x[2])/(x[ 71+x[8]);
printf("\n a=%f",a);
- getch(); f
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| aalyCha () aal s am Sl b ghna JSE e b5 15 JWals o s gl i) |
&b a3l Juala oo o548 shoaall (a5 5l s |
| 048 giad) jualic Javgie o 48 gindll |
(( (15) aliadl 22c [ 4 siadl jalic pene = dawgidl)) |
5 ((bsial / 48 siad) b o3 paic J5) @y Jala = S)) |

(1! A sy mali ) 2453 (a8 i gl (i) ) 04 5)) |

| #include<stdio.h> |
' #include<conio.h>
' main() |
{

clrser();

inti,a[15];

float avg,sum,s;

printf(" Enter the numbers");

sum=0;
for (i=0;i<=14;i++)
i { |
scanf(" %d",&d[i]);
sum =sum +a(i];
}
! avg = sum/15; |
printf("\t avg of array is = %f",avQ);
é s=(a[0]* [ 1])/avg;
| printf("\n The prod of 1st 2nd elements divided by avg=%f",s); |
getch(); |
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(33) Ji |

el oy a5 Coon A ghana 8 yeale 15 JAab o sk el )

048 siadll jaa) L8l 21 AL |

o4 (1,2,3,4,5,6,7,8,9,10,13,14,1,3,7 ) LGS juaic 15 Llasl 1y} Stia |
; Adshadl Go gl s LS T 58 o) il

(11 ¥ a8 0 = 5 el Jae W1 Lle e 81 5)) |

R .
#include<stdio.h>
' #include<conio.h> |
- main(
| '
clrscr();

int i,a[15],small;

printf(" Enter the numbers");

small=a[(];
- for (i=0ji<=14;i++)
{
scanf(" %d",&a[i]);
| if( a[i]<small ) ’
small=di];
)
printf("\n smallest No. is %d",small):
. getch(); '
) :
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| gealial) o sy g al 5 Chm b ghma i yesie 15 JWal o 5 el iS) |
| 044 siaall LY L8l #) AL
048(1,2,34,5,6,7,8,9,10,13,14,1,3,7 ) IS jeaic 15 Llasl 13 Sia |
| sl (o sl 1 8 LS 14 58 ) 51
| (TS 80 = Al el s Jae W) Lle Lo Y15 )

| #include<stdio.h>
. #include<conio.h>

- d rscr();
- inti,j,a[15] b,max=0; 5
i for(i=0;i<=14;i++) |
| { |
| printf("a[%d]=",i); |
| scanf("%d",&di]); |
| } |
| for(j=0,i=Li<=14;i++,j++)
| { |
{ if(afj]-a[i]>=0) ;

max=a[j];

alj]=alil;

a[i]=max;
}

}
printf("\n\n*** %d max=%ad***" j+1,a[j]);

| getch();
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| gealial) o sy g al 5 Chm b ghma i yesie 15 JWadls o 5 el iS) |
| € aal 5 el 8 A8 gheaall jpally SV Q8 2l Al
 048(1,2,3/4,5,6,7,8,9,10,13,14,1,3,7 ) IS jeaic 15 Llasl 1) Sia |
L1058 salls A shadl Ge mal N 0 LS 14 58 85 5S)
(1Y S 0 A gl e Y1 e La (Y14

| #include<stdio.h> !
| #include<conio.h> !
| main() |
{ |
clrscr(); |

int i,a[15],small,big; |
printf(" Enter the numbers"); |
small=a[0];
big=0; |

for (i=0;i<=14:i++) |

{ i

scanf(" %d" ,&ali]); !

if( afi]<small ) |

small=ali]; :

} |

for (i=0;i<=14;i++) I

{ |

if (a[i]>big) |

big=a[i]; i

| }
- printf("\n smallest No. is %d \n The biggest number is %d",small,big);

| getch();

________________________________________________________________________________________________________________
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fadlaly o 5 o) 53U (Factoria) LosiSa dads o5 el i)
2218 7 a8 )l Ly 53S0 o) Dl ) 538 e rnia gl
i 71=T*6*5*4* 3+ 2* 1=5040 |

| #include<stdio.h> |
i #include<conio.h> ,
' main() |
At |
L int a,b,c[70]; |
| clrser (); |
i printf(" Enter the number™); i
 scanf(" %d" & a); |
i c[0]=a; 5

for(b=1;b<a;b++) |

o
| c[b]=c[b-1]*b;
| printf("\n%d" ,c[b]); /* b=4 */

| }
! printf(" \nfactorial[%d]%d=%d" ,a,b,c[b-1]); /* b=5 */

| #include<stdio.h>
| #include<conio.h>
| main()
{
Lint n,ik=1;
. printf("Enter the value of n");
i scanf("%d",&n);
for(i=1;i<=n;i++)
{
k=k*i;
printf("%d\n" k);
}
printf("factoreal [ %d]=%d",n,k);

getch();
}
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Sl o 55 o ) (o) L) i Sl el ) |
17 L5588 an 5l e iy Ly 5388 |
71=T*6*5* 4* 3* 2+ 1=5040 e

I T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T e e T a

i #include<stdio.h> i
| #include<conio.h> |
. main() :
X |
Lint n,ik=1; !
i printf(" Enter thevalue of n"); i
| scanf(" %d" ,&n); :
i for(i=1;i<=n;i++) :
| { |
; k=k*i; :
! printf(" %od\n" k); !
i } i
| printf(" factoreal[%d]=%d" ,nk); I
| getch(); :
i } |

T USRS a
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(38) Jiw
FAE Hapally o161 DAL o gy cmali yy i)
i 12345 ;
| 1234 |
i 123 i
12
1 4
T T
 #include<stdio.h>
| #include<conio.h> |
- main()
{
 clrscr();

intij; ;
| printf("Enter the No.\n");
' for(i=5;i>=1:i--) '
{
{

for(j=1;j<=i;j++)

printf("%d",));
| } ;

printf("\n");

_______________________________________________________________________________________________________________
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| (39) Jbia
; Pipeall saa e ol5 ) Jadls o 5 guali 2 i) |
; 54321 ;
| 5432 |
| 543 |
! o4 |
B~ B
. #include<stdio.h>

: #include<conio.h>

- main()

clrscr();

Linti,j;

- printf("Enter the No.\n");

for(i=1;i<=5;i++) f
{ |
{ |
for(j=5;j>=i;j--) |
printf("%d" j); 5

)

printf("\n");
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(40) i
LI ol e ol LAl o sk el i) |
1
22 |
333
4444
. °%% |
R e
| #include<stdio.h> 7
| #include<conio.h> !
. main() :
o |
i clrscr(); |
intij; |
 printf(" Enter the No.\n");
for (i=1;i<=5:i++) f
| {
| { |
| for(j=L;j<=i;j++) |
printf(" %d" j); i
) |
printf("\n"); f
J |
getch(): i
|____________________} _________________________________________________________________________________________ d
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(1) e
LI ol e ol LAl o sk el i) |
1
12 |
123
1234
. 2345 |
R e
' #include<stdio.h>
| #include<conio.h> !
. main() :
{ |
i clrscr(); |
intiy; |
 printf(" Enter the No.\n");
for (i=1;i<=5;i++) i
| {
{ '
for(j=L;j<=i;j++) |
printf(" %d" j): i
) |
printf("\n"); i
J |
getch(); :
|______________________________}_ _______________________________________________________________________________ ]
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(42) Jbe |
I gl e o6l JAs o sk el )
| 55555 |
333 |
| 22 |
1 |
d;l\ ______________________________________________________________
 #include<stdioh>

| #include<conio.h>

' main()

{

L clrscr();

inti,j;
| printf(" Enter the NoAn");

{

{
for(j=1;j<=i;j++)

for (i=5;i>=1:i--)
printf(" %d" ,i);

}

printf("\n");
| J |
f getch() f
| } |
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#include<stdio.h>

#include<conio.h>

void main()

{

int a[3][3];

intij;

clrser();

printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)

{
for (j=0;j<=2;j++)
{
scanf(" %d" & a[i][j]);

}

prlntf(" ********~k*~k**********************\n" )1
for (i=0;i<=2;i++)
{
for (j=0;j<=2;j++)
{
printf(" a[%d][%d]=[%d]\t" ,i,j,ali][j]);

}
printf("\n");
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#include<stdio.h>
#include<conio.h>
main()
{
int a[3][4];
inti,j;
clrser();
printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)

{
for (j=0;j <=3;j++)
{
scanf(" %d" & a[i][j]);

}

pr‘lntf(" 'k**********'k*********************\n” )1
for (i=0;i<=2;i++)
{
for (j=0;j<=3;j++)
{
printf(" a[%d][%d]=[%d]\t" i j,alil[j]);

}
printf("\n");
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| ¢

CL3][4] = &[3][4] + b[3][4] )
Ci Co Cu Cu A A A A b. b, bs: b
C/Cx Cz Csx Cu|l=Q|8x 8» 8x au|+b|b. b. bs Db.
Cx Co Cs Cu A A Ax A b. b, by b

| #include<stdio.h>

| #include<conio.h>
main()

{

int a[3][4],b[3][4].c[3][4];
intij; |
clrser(); |
| printf("Enter the No. of matrix\n"); |
for(i=0:i<=2:i++) .
for(j=0;j<=3;j++) |
scanf("%d ",&&[i][]]); |

prl ntf("**************'k******************\n"); :
for(i=0;i<=2;i++) |
for(j=0;j<=3;j++) |

scanf("%d ",&b[i][j]);
prl ntf("*********************************\n");

for(i=0:i<=2:i++)

for(j=0;j<=3;j++)

{
. clil[j]=ali][j1+bli][j]; .
l printf("c[%d][%ed]=[%d]\t",i,j,cli][j]); l
i } i
printf("\n");
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C[3][4] = a[3][4] - b[3][4] )
Ci Co Cu Cu A Qv Qs Au b. b. b. b.
C[Ca C» Csx Cu|=A|An Bz & au|-D[Dx b2 bx b
Cu Co Cs Cu & Az An A b. b. b b i

#include<stdio.h>
#include<conio.h>
main()
{
int [3][4],b[3][4].c[3][4]:
inti,;
clrser();
printf("Enter the No. of matrix\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
scanf("%d ",&&i][j]);
prl ntf("*********************************\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
scanf("%d ",&bli][j]);
prl ntf("*********************************\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
{
clillil=afi][j]-bliI[il;
printf (" c[%d][%d]=[%d]\t",i,j,c[i][j]);
}
printf("*\n");
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(5) Ji« |
4 s g Baae ] a5 s G (51 (B¥ ) (8 stma T o s guali g i)
¢ agd s gidll |
3[4+ b3 [4
avgza[ ] [4]-+0{3][4]
2
all a12 a13 al4 i bll blZ b13 b14 |

alax ax azxz axu|tb|b. b. bs b. |
_b31 b32 b33 b34 i

d31 a3z az3 azx
L 22_

avg=
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#include<conio.h>
main()
{
int a[3][4],b[3][4];
inti,;
float avg[3][4];
clrscr();
printf("Enter the No. of matrix\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
scanf("%d ", & &[i][j]);
prl ntf("***~k******~k*~k********************\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
scanf("%d ",&b[i][j]);
prl ntf("*********************************\n");
for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
{
ava[il[j]1=[i][]+bli1[i1)/2;
printf(*avg[ %d] [Yod] =[%f]\t"i.j avgli][j]);
}
printf("\n");
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& & A Au i
: d=|da Ad» Az Au :

_______________________________________________________________________________________________________________

i #include<stdio.h> |
! #include<conio.h> !
| main() |
é { |
i int a[3][4]; i
Linti,j,small; :
- drser(); |
| printf(" Enter the No. of matrix\n"); !
| for (i=0;i<=2;i++) |

{
for (j=0;j<=3;j++)

{
scanf(" %d" & a[i][j]);

}
small=a[0][0];
prlntf(" *********************************\n" )
for (i=0;i<=2;i++)

for (j=0;j<=3;j++)

{
if(ali][j]<small)
small=a[i][j];

printf("\nThe smallest No. is%d" ,small);
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(7) Jia |
p s g e day )l 5 Chsim C (51 (3% 4) b shna JAal o iy ual s S)
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all a12 a13 a14

| #include<stdio.h>
| #include<conio.h>
. main()

o

. intg[3][4];

i inti,j,big;

i clrser();

i printf("Enter the No. of matrix\n");
i for(i=0;i<=2;i++)

{

for(j=0;j<=3;j++)
{

}

 big=a(0][0)];
: printf("*********************************\n");
i for(i=0;i<=2;i++)
for(j=0;j<=3;j++)
{
if([i][j]>big)
;JI9=8[I][J];
printf("\nThe biggest No. is %d",big);

scanf("%d" & il ]]);
getch()
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| (8) 5.
| asiysBaee] Ay (o ghin dass (5) (7% 6) A8 san JUals o gy gali y (I |
| ¢ 48 saaall H<Y) |
| A=[7][6] |

Jaldl
| #include<stdio.h> |
| #include<conio.h> :
i main() :
{ l
L int a[7][6]; |
inti,j,big; i
| clrsor(); |
i printf(" Enter the No. of matrix\n™); :
| for(i=0;i<=6;i++) :
| { |
i for (j=0;j<=5;j++) '
| { |
i scanf(" %d" & a[i][j]); |
| ) |
. big=a[0][0]; i
i printf("*********************************\n"); :
i for(i=0;i<=6;i++) :
for (j=0;j <=5;]++)
i { i
| if(a[i][j]>big) |
| ?lg:a[l][J]; |
printf("\nThe biggest No. is%d" ,big);
getch(); |
L} |
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i (43) Jta |
Caaby AU Caall palic aan agiig (364) (it san JAal o s galiy QS|
i € agd Jons siall |
: all a12 a13 a14 I bll blZ bl3 b14 | :

(o)

b21 b22 b23 b24

: az1 az az ax _bal b. bs b34_ :

sum=( (a,,+bz1) +(a,+bz2)+(a,+bys) +(a,+b24)

d|dz dz2 a3 axu

| #include<stdio.h> !
1 #include<conio.h> |
. main() |
- { |
- int a[3][4],b[3][4],i,j,sum;; :
\ float avg; :
i clrscr(); |
| sum=0; :
i printf(" Enter the No. of matrix\n"); :
! for (i=0;i<=2;i++) !
5 for(j=0;j<=3;j++) 5
i scanf(" %d" & a[i][j]); i
E printf("*********************************\n"); E
: for (i=0;i<=2;i++) :
! for (j=0;j<=3;j++) :
! scanf(" %d",&b[i][j]); !
E printf("*********************************\n"); :
| for (j=0;j<=3;j++) |
I sum=sum-+(a[1][j]+b[1][j]); I
! avg=sum/8; !
: printf("\n The aver age of 2nd row of two matrices =[%f]" ,avQ); :
| getch(); |
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[) 45\8 ; - O x

Enter the Ho. of matrix -
1234
2579 e
1365 7
3636336 36 36 36 36 I I3 I I IE 36 I3 I I IE I I I I I I I W
3156
9 7 4 2
24068

6363636 336 363363363336 I I3 I I IE I KK

The average of 2nd row of two matrices =[5.060868]_

m o
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(44) Jbe.
il Gl 3 gaall pualic mens asiy s (3%4) (i shiae LA sy ali s i) |
| aed o giall |
a1 aiz a1z au _bn b, b b14_

(o)

aldz1t Az Az a4 bZl bzz bzs b24

: a31 a32 a33 a34 _bal b32 b33 b34_ :

Surn:( 8.13+b13) + (a23+b23 )+(a33+b33)

#include<stdio.h>
#include<conio.h>
main()
{
int a[3][4],b[3][4].i,j,sum;;
float avg;
clrser();
sum=0;
printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)
for(j=0;j<=3;j++)
scanf(" %d" & a[i][j]);
prlntf(" *********************************\n");
for (i=0;i<=2;i++)
for (j=0;j<=3;j++)
scanf(" %d",&b[i][j]);
prlntf(" *********************************\n");
for (i=0;i<=2;i++)
sum=sum-+(a[i][2] +b[i][2]);
avg=sum/6;
printf("\n The average of 3rd column of two matrices=[%f]" ,avg);
getch();
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BN D:\TCWIN45\BINVAVG111.EXE - | x|

Enter the Ho. of matrix -
1234 o
246 8 b
135 7
336 36 36 36 36 36 36 I I 36 36 I I 3636 3336 36 33 I3 36 36 I KW
135 7
2581
1234

3636363636 36 36363 3636 I 3636363 I IE-IEIEIEIEIEIEIEIE I NN

The average of 3rd column of two matrices =[5.000000]

m o
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oy A 5 gaall palic pan asiy s (3% 4) O shoan JUAL a5k el i)
Cagd Jaus siall |

dil A2 diz ai4 bll b12 bls b14

b, b b b
b, b. bo b

o

a|dz dz2 dzz3 A4

A3l Az as3 ax L ]

Surn:( a13+b13) + (a23+b23 )+(a33+b33)

| #include<stdio.h> |
i #include<conio.h> |
' main() :
B |
- int a[3][4].b[3][4].i,j,sum;;

i float avg; :
t clrscr(); :
| sum=0; !
| printf(" Enter the No. of matrix\n"); !
| for (i=0;i<=2;i++) |
| for (j=0;j<=3;j++) |
l scanf(" %d" & a[i][j]); l
é printf("*********************************\n"); :
; for (i=0;i<=2;i++) ;
i for (j=0;j<=3;j++) i
| scanf(" %d" & b[i][j]); |
: printf("-k*-k*-k****************************\n”); :
! for (i=0;i<=2;i++) !
| sum=sum-+(afi][2] +b[i][2]); ;
. avg=sum/6; i
| printf("\n The average of 3rd column of two matrices =[%f]" ,avQ); |
l getch(); l

_______________________________________________________________________________________________________________
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Example (46).

Write a programme to find the largest among three
numbers ?

————————————————————————————————————————————————————————————————————————————————————————————————————————————————

! #include<stdio.h> !
! #include<conio.h> !
: main() :
l { l
i clrscr(); |
i int a,b,c; i
| printf("Enter the Noumbers:\n"); |
; scanf("%d %d %d",&a,&b,&c); 5
- if(b>a) |
| { |
! if( b>c) !
L printf("The largest number b=%d bigger than a=%d and c=%d",b,a,c); !
| else |
' printf("The largest number c=%d bigger than a=%d and b=%d",c,a,b); !
l } l

else

if( &>c)

printf(" The largest number a=%d bigger than b=%d and c=%d",a,b,c);
else

printf(" The largest number c=%d bigger than a=%d and b=%d",c,a,b);

I D:ATCWIN45\BIN\NONAMEO9. EXE -(0|x

Enter the Houmbers: .
12 1
The largest number c=3 bigger than a=1 and b=2
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I /* Another way to find the Largest number among 3 numbers */
| #finclude<stdio.h>

| #include<conio.h>

! main()
{
! clrser();
int i,j,a[3],LargeNumber t;

printf(" Enter the values of three number:\n");

|

|

|

|

|

|

|

;

for (i=0;i<=2;i++) :
scanf(" %d" & a[i]); |
for (i=0;i<2;i++) .
{
for(j=0;j<2;j++) :

{ i
if({a[j]>a[j +1]) i

|

t=aj]; |

alj]=alj+1]; '

a[j+1]=t; '

} !

} |

) :

i

|

i

|

L argeNumber=a[2];
printf("\n Thelargest number =%d " ,a[2));
+ getch();

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

 Example (47).

Write a programme to process a student's results ?

Explalnlng |
| Write a programme to process a student's results (the average of the
| grades),where if the average is greater than or equals 60 (per>=60) WE'
print (1% div) and if the average is smaller than 60 and greater than or !
| equals 50 ((per< 60) && (per>=50)) we print (11" div) and and if the
average is smaller than 50 and greater than or equals 40 (per< 50 && |
| per>=40) we print (11" div) and if the average is smaller than 40 We
- print ( Fail)? -

_______________________________________________________________________________________________________________

#include<stdio.h>

#include<conio.h>

main()

{

clrscr();

. float m1,m2,m3,m4,m5,per; |
. printf("Enter the marks:"); |
. scanf("%f %f %f %f %f ",& m1,&m2,& m3,& m4,& m5); |
per=(ml+m2+m3+m4+mb5)/5;
if(per>=60)

printf("Ist div");

elseif((per<60)& & (per>=50))
printf("1Ind div");

elseif((per<50)& & (per>=40))

printf(" 11ird div");

else if(per<40)

printf("Fail");

else

. printf(" Wrong in entering please again); |
. getch();
B
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————————————————————————————————————————————————————————————————————————————————————————————————————————————————

[* Another way to process a student'sresults */

#include<stdio.h>

#include<conio.h>

main()

{

clrscr();

float per;

int n,degree]200],sum=0i;

printf("Enter the number the supjects :\n");

scanf("%d ",&n);
, printf("Enter the marks: \n"); ,
: for(i=0;i<=n;i++) :
| { |
| scanf("%d ",& degre€|i]); |
| sum=sum-+deqree|i]; |
l } l
| per=sum/n; |
5 if (per>=60) 5
| printf("Ist div"); |
else if((per<60)& & (per>=50))
f printf("1ind div"); f
! elseif((per<50)& & (per>=40)) !
: printf(" 1lrd div"); :
| else if(per<40) |
| printf("Fail"); |

else
printf(" Wrong in entering please again");
getch();

B Y ]
Output
Enter the number the supjects : =

6

Enter the marks:
58 98 88 7@ 468 7@

I1Ind div
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' Example (48).

Write a programme to find the total salary of a person

' based on breakups?

. Explaining:-

| Write a programme to calculate the total salary ,where we
have these values ( da=60%, hra=20% , ded=5%) ?

Solution

U USSR U q

#include<stdio.h>
#include<conio.h>
. main() |
{

clrscr();

float basic_salary,d,da,ded,hra,salary_amount,h,x1,x2;
printf("Enter the basic_salary:\n");
 scanf("%f %f %f %" & basic_salary,&d,&h,& ded):
da=basic_saary*(d/100);

hra=basic_salary* (h/100);
x1=basic_salary+dathra;
x2=x1* (ded/100);
salary_amount=x1-x2;

printf("\n The Total salary =%f",salary _amount);
getch();
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' Example (49).

Write a programme to find the total salary of a person

' based on breakups?

. Explaining:-

| Write a programme to calculate the total salary ,where if

| the basic salary was greater than or equals 30,000 we input these

' values ( da=60%, hra=20% , ded=5%)and if the basic salary was

. smaller than 30,000 we input these values ( da=30%, hra=15% ,

' ded=2%) ?

Solution
#include<stdio.h> j
#include<conio.h>
main()
{
clrser();
float basic_salary,d,da,ded,hra,salary_amount,h,x1,x2;
printf(" Enter thebasic_salary:\n");
scanf(" %f " & basic_salary);
if(basic_salary>=30000)
{

d=60,h=20,ded=5;

da=basic_salary*(d/100);

hra=basic_salary* (h/100);

x1=basic_salary+dathra;

x2=x1* (ded/100);

salary_amount=x1-x2;

printf("\n The Total salary =%f" ,salary_amount);

{

d=30,h=15,ded=2;

da=basic_salary*(d/100);

hra=basic_salary* (h/100);
x1=basic_salary+dathra;

Xx2=x1* (ded/100);

salary_amount=x1-x2;

printf("\n The Total salary =%f" ,salary_amount);

}
getch();
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Example (50).
. Write a programme to print the table of any given number ?

L i

Solution
i #include<stdio.h> I
. #include<conio.h> l
. main() |
A |
- clrscr(); :
int n,i,prod; E
printf(" Enter the number of table:\n"); !
scanf(" %d" ,&n); !

for (i=0;i<=10;i++)
{

prod=n*i;
printf("\t \n %d * %d = %d" ,i,n,prod);

Il D:ATCWIN4S\BINSSAX. EXE -0l x

Enter the number of table: .
8

L I I I
SO SO GO GO SO 0D 0D 0D oD oo
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Example (51).

Write a programme to print the entire table of
multiplication ?

________________________________________________________________________________________________________

. #include<stdio.h>
' #include<conio.h> |
- main() |
B |
clrscr();
inti,j,prod;

for (i=0;i<=10;i++)

i { |

for (j=0;j<=10;j++) i

| (

i prod=i*j; |

| printf("\t \n %d * %d = %d" i j,prod); |

} |
}
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Example (52).

Write a programme to find the factorial ( n!) of any given
number ?

————————————————————————————————————————————————————————————————————————————————————————————————————————————————

i #include<stdio.h>
#include<conio.h>

{ |
Lint n,i,k=1; I
. printf(" Enter the value of n"); |
' scanf(" %d" ,&n); |
for (i=1;i<=n;i++) ;

{

| k=k*i;

! printf(" % d\n" k);

| }

printf(" factoreal[%d]=%d" ,n,K);
. getch()

)

* Another solution to to find the factorial */ '
| #include<stdio.h> !
| #include<conio.h> !
' main() |
{ |
L int a,b,c[70]; i
 clrscr(); E
| printf(" Enter the number");
scanf(" %d" & a); :
- c[0]=3; '
i for(b=1;b<a;b++) !

| { |
| c{b]=c[b-1]*b; |
| printf("\n%d" ,c[b]); /* b=4 */ |
| } |
| printf("\nfactorial[%d]% d=%d" ,a,b,c[b-1]); /* b=5 */ i
' getch(); |
I} :
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' Example (53).

. Writeaprogramme to check if astringisapalindromeor
not ?
' Explaining: |
§ A palindromeisaword, phrase, number or other sequence of unitsthat :

| can beread the sameway in either direction (the adjustment of punctuation and
| spaces between wordsis generally per mitted).

| #include<string.h>
I #include<conio.h>
#define size 26
void main()

{
char strsrc[size];

char strtmp[size];

clrser();

printf("\n Enter String:=");
| gets(strsrc);

i strepy(strtmp,strupr (strsrc));

strrev(strtmp);
if(stremp(strsre,strtmp)==0)

i
i
i
I printf("\n Entered string %sis palindrome" ,strsrc);
|
| else

i

printf("\n Entered string %sisnot palindrome” ,strsrc);

| getch();
|
i
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/* Another soltution to check if a string isa palindrome or not */
i #include<stdio.h>

#include<conio.h>
void main ()

{
inti,j,f=0;
char a[10];
clrser ();
gets(a);

{
}
i--;
for (j=0;a[j]!="\0";j++,i--)
{
if (a[i]!=alj])
| f=1, !
: } l
if (f==0)
i printf(" string is palindrome"); i

else
printf(" string isnot palindrome");
| getch ();

________________________________________________________________________________________________________________

Output

B B D:ATCWINASIBINNONAME10. EXE

1
||
X

Enter String:= sddddds

B B D:\TCWIN4S\BIN\NONAME10. EXE - (O] x

Enter String:= eeeeeececeeeeeeeceffff

| |
| |
| |
| |
| |
| |
| |
; :
i Entered string SDDDDDS is palindrome :
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |

Entered string EEEEEEEEEEEEEEEEEFFFF is not palindrome

_______________________________________________________________________________________________________________
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| integers ?

#include<stdio.h>
#include<conio.h>
main()

| clrser(); |
| int i,sum,n; |
: float avg; :
E i=0; E
: sum=0; |
: printf(" Enter any number to get (sum and avg):\n"); :
! scanf(" %d" ,&n); !
: while(i<=n) :
| { |
: Sum:sum+i; :
! I=i+1; !
: } :
. avg=sum/n; .
i printf("\n Sum(%d)=%d" ,n,sum); i
printf(" \n Average=sum/n=%d/% d=%f" ,sum,n,avg);
getch();

1

|

1

| Sum(19)=198

i Average=sum/n=196/19=10. 0060880
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————————————————————————————————————————————————————————————————————————————————————————————————————————————————

[* Another solution using for loop*/
f #include<stdio.h> f
! #include<conio.h> !
| main() |

clrscr();

int i,sum,n;

float avg;

sum=0;

printf(" Enter any number to get (sum and avg):\n");
scanf(" %d" ,&n);

for (i=0;i<=n;i++)

| { |
| sum=sum-i; |
| } ;
: avg=sum/n; :
: printf("\n Sum(%d)=%d" ,n,sum); :
: printf(" \n Average=sum/n=%d/% d=%7f" ,sum,n,avg); :
! getch(); |
: } :
|\~ " "= = -=T---TT/TT/T/TT Tt T T 1
; Output ;
; ;
+  Enter any number to get (sum and avg): Al
! 19 =
I sun(19)-198 !
| Average=sum/n=198/19=10.0800000 |
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Example (55).

| Write a programme to generate the fabonacci sries?

' Explaining:

| Thefabonacci sries Starting with 0 and 1, each new number in
| the seriesis simply the sum of the two beforeit.

! 0,1,1,23,5,8,13, 21, 34,55, 89, 144, . ..

i [* This program printsthe Fibonacci series*/ |
E #include<stdio.h> :
: #include<conio.h> :
i main() .
| |
i intijk,n,m; i
i clrscr(); |
scanf(" %d" ,&m); i
i=0; i
=1 !
printf("%d %d ",i,); l
|
|
|
|
|
|
|
|
|
|

|

|

|

|

|

|

! for (n=0;n<=m;n++)
L

! k=i+j;

| |:J,

: j=k;

| printf(" %d" k);
|

|

é I DATCWIN4AS\BIN\NONAME10. EXE -0|x :

Enter the number of times: s
20

] 1 1 2 3 c 2 13 21 34 i :
L5 89 144 233 377 618 087 1597 2584 i :
6765 18946 17711 i
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A i+ Aroiher way to find the Fibonacd) series /| )
! #include<stdio.h> !
i #include<conio.h> |
i main() |
I i
i clrser(); |
i unsigned int i=0, j=0, sum=1, num; |
i printf("nEnter the limit for the series™); |
i scanf(" %d", &num); |
| while(sum<num) |
| |
i printf(" %d ", sum); I
i |
| j=sum; |
i sum=i+j; i
| |
| |
| |
| |

I D:ATCWINAS\BINANONAME10. EXE -

i Enter the number of times: all i
| 20 |
| 1 1 p 3 C 8 13 21 34 e :

| |55 89 144 233 3 618 087 1597 2584 411
P6765 18046 17711
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Example (56).

Write a programme to find the greatest and the smallest
number in agiven array?

i main()
-

clrscr();
! int i,a[15],small,big; i
' printf(" Enter the numbers"); |
| small=a[0];
| big=0; :
l for (i=0;i<=14;i++) :
| { :
i scanf(" %d" & a[i]); |
f if( afi]<small ) |
! small=a[i]; :
| } |
. for (i=0;i<=14;i++) i
i { i
i if (a[i]>big) |
| big=a[i]; |
| } |
- printf("\n smallest No. is %d \n The biggest number is %d",small big); |
: getch(); !

I D:\TCWINAS\BINANONAME10. EXE -0Ox

I I
1 1
! Enter the numbers: - !
| 2133 4567892156805 |
1 1
I I
1 1

smallest Ho. is @
The biggest number is 33
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e = m . = o tm = = — tm = = = = = = = = = — = — = — — i ———— — = —— —m —

/* Another way to find the Largest number and the smallest Number */
#include<stdio.h>
#include<conio.h>
main()
{
clrser();
int i,j,a[15],L argeNumber,SmallNumber t;
printf(" Enter the values of three number:\n");

for (i=0;i<=14;i++)
scanf(" %d" ,&ai]);
for (i=0;i<14;i++)

{
for (j=0;j<14;j++)
{
iff{a[J']>a[J' +1])
t=a[j];
alj]=alj+1];
alj+1]=t;
}
}
}

LargeNumber=a[14];
SmallNumber=a[0];
printf("\n The smallest number = %d \n Thelargest number =%d " ,a[0],a[14]);

|-/ " — T~ T T T T T T T T T T T T T T T T T T T 1
Output
B D:\TCWIN45\BIN\NONAME10. EXE HE X
Enter the values of three numbey: -

The smallest number = @

| |
| |
| |
i 2133547756097 8431 i
i i
| The largest number = 77 |
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Example (57).

Write a programme to find the sum and difference
- of two matrices ?
- ~ C[3][3] =&[3][3] + b[3][3]

i Cu C. Cs Au A i bn blZ b13 i

C Cx Cn Gy =d|dx d»r dxs ib b21 b22 b23 |
ClCh Ce G | & A A | |bu be Do
___________________________________________________________ _Sb l_a_t_.i_b__r_]_____________.__________________.____________________._______

#include<stdio.h>
#include<conio.h>
main()
{
int a[3][3],b[3][3].c[3][3];
inti,j;
clrser();
printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)
for(j=0;j<=2;j++)
scanf(" %d " & a[i][j]);
printf("*********************************\n");
for (i=0;i<=2;i++)
for (j=0;j<=2;j++)
scanf(" %d " ,& b[i][j]);
prlntf(" *kkkkkkkkkx a[g] [3] ****************\n" ),
for (i=0;i<=2;i++)
{
for (j=0;j<=2;j++)
{

printf(" a[%d][%d]=[%d]\t" i,j,ali][j]);
}
printf(*\n");
prlntf(" *kkkkkkkhkkkkx b[3][3] *************\n" ),
for (i=0;i<=2;i++)
{
for(j :O;j <:2;j ++)
{
printf(" b[%d][% d]=[%d]\t" ,i,j,b[i][i]);
printf(*\n");
}

printf(" XRXXXXKRXKX THhe qUm * ¥ *******%*\n" )
for (i=0;i<=2;i++)

________________________________________________________________________________________________________________________
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for (j=0;j<=2;j++)

{

clil[jl=ali][j]+b[i][j];

printf(" c[%d][%d]=[%d]\t" i,j,clilli]);
}

printf("\n");
: pr|ntf(" *E********* The dlffel’ence ************\n" )
for (i=0;i<=2;i++)

{
| {
| clij1=alilij]-bIif];
| printf(" c[%d][%d]=[%d]\t" i,j,c[il[i]);
| }
| printf("\n");
| }
| getch();
)

for (=0 <=2, ++)

I D:ATCWIN4S\BIN\NONAME10. EXE - (O] x

Enter the Ho. of matrix
12234567809

8926784532

exxxxxxnx g[I][3] *ererxrererenrxn
a[e][e]-[1] a[o][1]=[2] a[o][2]=[3]
a[1][e]-[4] a[1][1]=[5] a[1][2]-=[s]
a[2][e]-=[7] a[2][1]1=[8] a[2][2]-=[9]
sexxxxxxnxex h[I][3] *erexexerexes
b[e][e]=[8] b[8][1]=[9] b[e][2]=[6]
b[1][8]-[7] b[1][1]=[8] b[1][2]=[4]
b[2][e]-=[5] b[2][1]=[3] b[2][2]=[2]
EHEREXEXEE [hE GUM X¥XEREEEXEN

c[e][e]-[1] c[o][1]=[11]  cl[o][2]=[?]
c[1][e]=[11]  e[1][1]1=[13]  c[1][2]=[10]
c[2][e]l=[12]  cl[2][1]1=[11]  ecl2][2]=[11]
% %%k %%%%%% [he difFPFENCE **EXXEXREXXXER
c[e][e]-[1] c[o][1]=[-7]  cl[0][2]=[-3]
c[1][e]=[-3]1  e[1][1]=[-3]1  c[1][2]=[2]
c[2][e]-[2] c[2][1]=[5] c[2][2]=[7]
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Example (58).

Write a programme to interchange the rows and columns
of amatrixes ?

i #include<stdio.h>
#include<conio.h>
main()

inti,j;
clrser();
printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)

for (j=0;j<=2;j++)

scanf(" %d " ,&a[i][j]);
prlntf(" *********************************\n" )1

for (i=0;i<=2;i++)

{

| |
| |
| |
| |
l for (j=0;j<=2;]++) i
| |
| |
| |

| |
| |
! !
I int a[3][3]; @
| |
| |
| |

{

}
printf("\n");

}

H n ny.
prlntf( *********************************\n )’

for (i=0;i<=2;i++)

printf(" [%d]\t " ali][j]);

{ for (j=0;j<=2:]++)
printf(" [Yod]\t " ,a[j][i]);
grintf("\n");
g0 ! i
._ooWput ;

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A8 Ad (35 gy (B Lindii 0 Lue Jll) g (8 ABalia 3 500 aSllial Lad) L8 W g Sl aSil ¥ agad) 1a (e S (pa S )

E M DATCWINAS\BIN\NONAMETD. EXE -0 :
. Enter the Ho. of matrix s

1230567890 !
! EXEXXEXARXRXXXXAXXER AR XXX XXX XXX XREXNR =11
i [1] [2] [3] i
© 4] [5] [6] i
L 7] [8] [9] i
A N Y R @
i [2] [5] [8] i
: [3] [6] [9] :
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Example (59)

writeaprogrameto multiply two given matrixes ?
We assume two matrixes[3][3]
c[3][3]=a[3][3] * b[3][3]

Cu Co Cus Au A s b. b. bs
C/lCax C» Cx =ad|dx dx Az *b b21 bzz b23
Ci Co Cs | |Qu @ Qs | |Du Do Do |

(a11"by11 ta12"bo1 ta13 b31) (a11"bis *a12 boy ta13*b32) (ai11"biz ta12 “boz ta13 “b33z)

C=|(a21"b11 Ta22" b1 Ta23"b31) (a21 b1z ta22 boy ta23"b32) (a21 b1z ta22 boz ta23 b33)

(231" b11 Ta32 by Ta33"b31) (@31 b1z ta32 by Ta33 b32) (@31 b1z Fa32 bpz Ta33 b33) |

Solution

: /I multiplication of matrices/
. #include<stdio.h> :
! #include<conio.h> !
' main() !
I !
| clrscr(); i
i int a[3][3],b[3][3],c[3][3],S, .K; [
i printf(" Enter the No. of matrix\n"); .
i for (i=0;i<=2;i++) i
| for (j=0;j<=2;j++) |
scanf(" %d " & alil[j]);
printf("*********************************\n");
for (i=0;i<=2;i++)
for(j=0;j<=2;j++)
scanf(" %d " ,&b[i][j]);
printf("*********************************\n");
for (i=0;i<=2;i++)
{
for (j=0;j<=2;j++)
s=0; for (k=0;k<=2;k++)
s=sta[i][K]*b[K][i];
clillil=s;
printf(" %d \t" ,c[i][j]);

}
printf("\n");
}
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i i
| /I Another way for solution the multiplication of matrices// |
I dinclude<stdio.h> !
I #include<conio.h> I
| main() [
oo

 int a[3][3],b[3][3] c[3][3] s :
Iinti,jk; I
i clrser(); i
i printf(" Enter the No. of matrix\n"); |
: for (i=0;i<=2;i++) :
I for(j=0;j<=2;j++) I
i scanf(" %d " & a[i][j]); i
i printf("*********************************\n"); i
: for (i=0;i<=2;i++) :
! for (j=0;j<=2;j++) !
i scanf(" %d " ,&Db[i][j]); i
i printf("*********************************\n“); i
: for (i=0;i<=2;i++) :
! { :
[ for(j=0;j<=2;j++) i
i o i
: clilli1=0; :
! for (k=0;k<=2;k++) !
i cli]li]=clillj]+ali][K]*bIKI[i]; i
| printf(" %d \t" ,c[i][j]); |
: } :
! printf("\n"); |
| } [
+ getch(); :
I I
3 :
[T TrmTTmm e mnm e S e bl 1
! 1111116 6 6 !
I I
! c=|2 2 2|"2 2 25|12 12 12 !
I I
333|(333| 181818
I - - = - = - I
i Output _ i
' I D:\TCWIN4S\BINWNONAME10. EXE -0 x I
| Enter the Mo. of matrix all !
i 111222333 ] |
! 6N AIENRNEXEXENNENENEXNAENRE !
111222333 !
I I
i 6N AIENRNEXEXENNENENEXNAENRE i
16 ] i :
I 12 12 12 !
I 18 18 18 !
T . ]
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 Example (60).
| Write a programme to find the greatest and the smallest |
' number in agiven matrix? |

| #include<stdio.h>
i #include<conio.h>
main()

A

i int a[3][4];

L inti,j,small,big;

| clrser();

i printf(" Enter the No. of matrix\n");
i for(i=0;i<=2;i++)

{

for (j=0;j<=3;j++)
{
scanf(" %d" & a[i][j]);
}

}

! prlntf(" *********************************\n” )’

i for (i=0;i<=2;i++)
for (j=0;j<=3;j++)

{
if(ali][j]<small)
small=a[i][j];

i printf("\nThe smallest No. is%d" ,small);
H b|g=a[0][0], printf("*********************************\n");

i small=a[0][0]; i
for(i=0;i<=2;i++)

for(j=0;j<=3;j++)
{
5 i (ali][j]>big) 5
?lg:a[l][l];
printf("\nThe biggest No. is%d" big); |
| getch(); |
I |
Output

Enter the Mo. of matrix =

123456789112 3 [

The smallest Ho. is 1

The biggest Mo. is 11 j

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

Example (61).

Write a programme to find the standard deviationin a
given series ?

Explaining:
The Standard Deviation - Formula

S (X-M)?

S=

n

where X = Sum of
S=Standard Deviation
X = Individual score
M = Mean of all scores
N = Sample size (Number of scores)

SZ:Variance

L#indude<stdioh> .

» #include<conio.h>
#include<math.h>
void main()
L
intn,ij;

double max[100],sum=0,variance,mean=0,standard_deviation;

printf(" enter thesize of array \n");
scanf(" %d" ,&n);

1
i
i
[
i
i
i
i
i
printf(" enter the elementsof array:\n"); !
for (i=0;i<n;i++) |
scanf(" %If" ,& max(i]); !
|
i
i
i
i
[
i
[
[
|

i=0;
printf ("\n");
for (j=0;j<n;j++)

sum+=max([i];

i++;

}
mean=sum/i;

[

. I* calculating the mean value */

! printf("\n sum of the elements:");

~=
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I printf(" %If" ,sum);
I printf(" \n mean of the elements.");
printf(" %If" ,mean);

e
sum=0;
for (j=0;j<n;j++)
/* calculating summation in variance formula (refer to variance formula)*/

i++;

}
| variance=sum/(i-1);

printf(" \n standard deviation:");

standard_deviation=sqgrt(variance);

printf(" %If" ,standard_deviation);

|
i
i
|
|
|
|
;
max[i]=pow((max[i]-mean),2); !
|
I
i
|
|
g
getch(); 5

|
|
|
|
[
!
|
1
I sum=sum-+max[i];
|
|
|
|
|
[
[

I D:\TCWIN45\BIN\NONAME1 0. EXE ]

|

i

i

| enter the size of array "
| 5

|

' enter the elements of array:
;2@ 3@ 49 50 60
|

|

|

1
i

sum of the elements:?00.008084
mean of the elements:46.008084
standard deviation:15.811388 ﬂ
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' Exmple(62). i

| Write a programme to Find the roots of equations
' using Bisection Method?
| assume

a=0, b=4, f(x)=x>-4*x+3

We can compute the midpoint

_______________________________________________________________________________________________________________

i #include<stdio.h>
| #include<conio.h>
| #include<math.h>
i main()
1 _
i int itr,maxitr;
! float x,a,b,aerr x1,fafb,fx;
clrser();
i printf(" Enter the value of a,b,allowed error,maximum iterations\n");
i scanf(" %f %f %f %d" & a,&b,&aerr,& maxitr);
i x=(a+b)/2;
| for (itr=1;itr<=maxitr;itr++)

l { l
| fa= a*a-4*a+3; i
| fX= X* X-4* X+3; :
: if (fa*fx<0) :
| b=x; |
l else l
! a:X; 1
| x1=(at+b)/2; |
! if(fabs(x1-x)<aerr) |
| { i

printf(" After %d iterations, root=% 6.4f\n" ,itr x1);
return O;

X=x1;
}
printf(" Iterations not sufficient, solution does not cover ge\n™);
return 1;
getch();
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! [* Another solution without using #include <math.h> */
| #include<stdio.h> :
i #include<conio.h>
| main() :
o |
Loint itr,maxitr; :
| float x,a,b,aerr x1,fa,fb,fx,x1x; !
1 clrser(); |
i printf(" Enter the value of a,b,allowed error,maximum iterations\n"); i
i scanf(" %f %f %f %d" ,&a&b,&aerr,& maxitr); :
. x=(atb)/2; l
i for (itr=1;itr<=maxitr;itr++) :
{
fa= a*a-4*a+3; i
fx= x*X-4*x+3; |
if(fa*fx<0) :
b=x; !
else i
a=x; i
x1=(a+h)/2; :
if (x1-x)<0) :
XIx=-(x1-X); !

else
XIx=(x1-X) ;
if(x1x<aerr)

| { |
! printf(" After %d iterations, root=% 6.4f\n" ,itr x1); !
i return0; ;

X=x1;

}

printf(" Iterations not sufficient, solution does not cover ge\n™);
return 1,

B (Inactive D:\TCWIN45\BIN\NONAME10. EXE) - (O] x

i i
i i
| Enter the value of [a],[b],[a11owed error],[maximum iterations]: o !
l'a 5 a.0081 20 = !
I A |
i i
i i

fter 15 iterations, root=1.8008 b
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[* Another solution by using functions*/
I #include<stdio.h>
#include<conio.h>
#include<math.h>
# define f(X)(x*x-4* x+3)
main()
L
int itr,maxitr;
float x,a,b,aerr x1,fa,fb,fx;
clrser();
printf(" Enter the value of [a],[b],[allowed error],[maximum iterations]: \n");
scanf(" %f %f %f %d" ,&a,&b,& aerr,& maxitr);
x=(a+b)/2;
for (itr=1;itr<=maxitr;itr++)

b=x;

else

a=x;

x1=(a+b)/2;
if(fabs(x1-x)<aerr)

{
printf(" After %d iterations, root=% 6.4f\n" ,itr x1);
returnQ;
}
x=x1;
}
printf(" Iterations not sufficient, solution does not cover ge\n™);

I
i

I

i

i

i

i

I

i

i

i

i

i

if(f(a)*f(x)<0) :
I

i

i

i

i

i

i

i

i

i

returnl; :
i

| |
| |
i B (Inactive D:\TCWIN45\BIN\NONAME10. EXE) - |0 x i
| Enter the value of [a],[b],[allowed error],[maxinum iterations]: alf
| |
| |
| |

'A 5 f.aEm 28 !
nfter 15 iterations, root=1.080680 b
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. Exmple(63). i

Write a programme to Find the roots of equations i
- using Newton Raphson Method? ;
assume ;
: Xo=2, :
f (X)=X"—4*x+3

f(x)°'=2*x -4
We can compute the Newton Raphson Method
[(x:)
f'(x;)

Xigl = Xj —

S Solution_
i #include<stdio.h> i
i #include<conio.h> |
' #include<math.h> ;
| main() i
R :
i int itr,maxitr;

. float h,x0,x1,aerr fx,fxx; :
| clrser(); !
- printf(" Enter [x0],[allowed error],[maximum iterations] \n"); !
i scanf(" %f %f %d" ,& x0,& aerr,& maxitr); i
| for (itr=1;itr<=maxitr;itr ++) :
I { l
! fx=x0*x0-4*x0+3; !
! fxx= 2*x0-4; :
i h=fx/fxx; i
; x1=x0-h ; :
5 printf(" Iteration no. % 3d, x=% 9.6f\n" ,itr ,x1); 5
| if(fabs(h) <aerr) !
| { |
: printf(" After %3d iteration, root=%8.6f\n" ,itr x1); i
| return O; |
l } l
! X0=x1, !
| } |
i printf(" Iterations not sufficient, solution does not coverge\n"); i
L return 1; |
{ getch(); I
R J
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| I without using #include <math.h> // |
i #include<stdio.h> I
| #include<conio.h> |
. main() |
A !
it itr,maxitr; |
| float h,x0,x1,aerr fx,fxx; !
L clrser(); !
| printf(" Enter [x0],[allowed error],[maximum iterations]: \n"); !
| scanf(" %f %f %d" ,&x0,& aerr,& maxitr); :
i for (itr=1;itr<=maxitr;itr ++) !

{
! fx= x0*x0-4*x0+3; !
! fxx= 2*x0-4; |
| h=fx/fxx; |
i x1=x0-h ; i
i printf(" Iteration no. % 3d, x=%9.6f\n" ,itr x1); i
| if(h<0) |
l h=-h; l
| else l
l h=h: l
if(h <aerr)
| { |
| printf(" After % 3d iteration, root=% 8.6f\n" ,itr x1); |
| return O; |
| } |
1 X0=x1,; !
. . S |
| printf(" Iterations not sufficient, solution does not coverge\n™); !
| returnl; g
| getch(); |
I |
o output
i m (Inactive D:\TCWIN45\BIN\NONAME10. EXE) IE x|t i
i Enter [x@],[allowed error],[maximum iterations] all i
2.1 @.0001 209 = !
i Iteration no. 1, x= 7.050004 i
i Iteration no. 2, %= 4.624012 :
i Iteration no. 3, x= 3.50255% i
i Tteration no. 4, x= 3.08464% i
| Iteration no. 5, x= 3.8083258 |
i Iteration no. &, %= 3.00@885 i
i Iteration no. 7, x= 3.000000 |
i After ¥ iteration, root=3.08080000 ﬂ i
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——————————————————————————————————————————————————————————————————————————————————————————————————————————————— -

/* Another solution by using functions*/
| #include<stdio.h> :
| #include<conio.h>

i #include<math.h>

i #define f(x)(x*x-4*x+3)
| #define df(x)(2* x-4)

| main()

o

| int itr,maxitr;
. float h,x0,x1,aerr fx,fxx;

' clrscr();

i printf(" Enter [x0],[allowed error],[maximum iterations] \n");
i scanf(" %f %f %d" ,& x0,& aerr,& maxitr);

i for (itr=1;itr<=maxitr;itr ++)

o
h=F(x0)/dif(xO);

x1=x0-h ;
printf(" Iteration no. % 3d, x=%9.6f\n" ,itr ,x1);
if(fabs(h) <aerr)
{

printf(" After % 3d iteration, root=% 8.6f\n" ,itr ,x1);
return 0,

x0=x1;

)

printf(" Iterations not sufficient, solution does not cover ge\n");
return 1;

| |
é M (Inactive D:\TCWIN45\BINANONAME10.EXE) :
i Enter [x@],[allowed error],[maximum iterations] afl i
i 2.1 0.0801 20 =
i Iteration no. 1, x= 7.050004 7 |
| Iteration no. 2, x= 4.624812 |
. Iteration no. 3, x= 3.582554 .
i Iteration no. 4, %= 3.084844 i
g Iteration no. 5, %= 3.883258 g
i Iteration no. 6, x= 3.00808085 i
' Iteration no. 7, x= 3.000000 '
| After 7 iteration, root=3.080808 = |
| |
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 Exmple(64). i
Implement numerical integration using Trapezoidal
‘& 1/3 Simpson Rule ¢

Explaining:

Trapezoidd rule=1=_[(yg+¥,)+ 2y Y.+, 1)

. . h .
. Simpson's1/3rule=| :g[(yo+ Y)Y Yt Y, )2Vt Yty ) E
Solution

/% Trapezoida rule */
#include<stdio.h>
#include<conio.h>
main()

| clrser(); |
: inti,n; :
: float x0,xn,h,Trap,fx0,fxn,f,x; :
! printf(" Enter the value of X0, xn, No. of subintervals\n"); !
i scanf(" %f %f %d",&x0,& xn,&n); i
| h=(xn-x0)/n; |
i fx0=1/(1+x0*x0); |
: fxn=1/(1+xn*xn); :
! Trap=fx0+fxn; !
: for(i=1;i<=n-1;i++) :
| { |
! X=X0+i*h; !
! f=1/(1+x*x); !
! Trap=Trap+ 2*f; !
| } |
i Trap=(h/2)*Trap; |
: printf(" Value of integral is%6.4f\n" , Trap); :
| getch(); |

B DATCWINASABINYNONAME10. EXE -0 x

Enter the value of %8 , %n , MHo. of subintervals
1 2 6
. Value of integral is 8.3225
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i #include<conio.h> l
 #define f(x)(1/(1+x*X)) |
' main() f
{ |
clrser(); ;
inti,n; !
float xO,xn,h,Trap,Xx; !
printf(" Enter thevalue of X0, xn , No. of subintervals\n"); |
scanf(" %f %f %d",&x0,& xn,&n); i
h=(xn-x0)/n; l
Trap=f(x0)+f(xn); |
for(i=1 ;i<=n-1;i++)
{ .
X=x0+i*h;
Trap=Trap+ 2*f(x); !

} |
Trap=(h/2)* Trap; !
printf(" Valueof integral is % 6.4f\n" ,Trap); :

i Output i
| |

I I
I I
I I
| |
E Enter the value of %8 , xn , Ho. of subintervals -

I I
I I
I I
I I
I I

i1 2 6 i
;- Value of integral is B.3225 s
Loy 3
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i [* Another solution for Trapezoidal rule by using functions */
i #include<stdio.h>

i #include<conio.h>

i #include<math.h>

: main()

| clrscr();

Linti,n;

i float h,y[100],sum1,sum2,Trap;

| sum2=0:

i printf(" Enter thevalue of interval n\n");
+ scanf(" %d" ,&n);

printf(" \n Enter the value of h=x1-x0\n");
scanf(" %f" ,& h);

printf(" \n Enter the value of y[%d] \n" ,n);
for (i=0;i<=n-1;i++)

scanf(" %f" ,&yli]);

sum1=y[0]+y[n-1];

for (i=1;i<=n-2;i=i+2)
sum2=sum2+2*y[il;

Trap=(h/2)* (sum1l+sumz2);
printf(" The Trapezoidal rule=%f" ,Trap) ;

getch();
I
T T T T T T T T T T T 1
; Output ;
B W D:\TCWIN4S\BINWNONAME10. EXE - |o| x |
i Enter the value of interval n Al
i ? iy
: Enter the value of h=x1-x8 :
P2 i
| |
| Enter the value of y[9] |
E 123456789 :
i The Trapezoidal rule=50.8080000 j |
g T J
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[* 1/3 Simpson Rule */

| #include<stdio.h> |
#include<conio.h>
| main() |
| { |
| clrscr(); |
! inti,n; !
: float x0,xn,h,Simp,fx0,fxn,fxx,fx1,fx2,x1,X2,X; :
| printf("Enter the value of X0, xn, No. of subintervals\n"); |
l scanf(" %f %f %d",&x0,&xn,&n); l
| h=(xn-x0)/n; |
| x0=1/(1+x0*x0); |
fxn=1/(1+xn*xn);
| x=x0+h : |
! fxx=1/(1+x*X) ; !
! Simp=fx0+fxn+4*fxx; !
! for(i=3 ;i<=n-1;i=i+2) !

X1=x0+i*h;

x2=x0+((i-1)* h);
fx1=1/(1+x1*x1);
fx2=1/(1+x2*x2);
Simp=Simp+ 4*fx1+2*fx2;

Simp=(h/3)* Simp;
printf(" Value of integral is %6.4f\n",Simp);
getch();

_______________________________________________________________________________________________________________

: B D:ATCWINASIBINYNONAME10. EXE -|0lx

i Enter the value of %8 , %n , No. of subintervals &
170
| Value of integral is 0.6284 b

-
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| /* Another way to solve 1/3 Simpson Rule by using function */

i# include<stdio.h> l
i# include<conio.h> l
# define f(x)(1/(1+x*x)) |
‘main() f
clrscr();
inti,n; ;
 float x0,xn,h,Simp,fx0,fxn,fxx,fx1,fx2,x1,x2,x; !
printf(" Enter thevalue of x0, xn, No. of subintervals\n"); :
i scanf(" %f %f %d" ,&x0,& xn,&n); ;
. h=(xn-x0)/n; i
| x=x0+h : |
. Simp=f(x0)+f(xn)+4*f(x); |
| for (i=3 :i<=n-1;i=i+2) i

| Ualue of integral is B.628%4 o

A

! X1=X0+i*h;

! x2=x0+((i-1)*h);

Simp=Simp+ 4*f(x1)+2*f(x2);

)

. Simp=(h/3)* Simp;

i printf(" Valueof integral is % 6.4f\n" ,Simp);

. getch();

e J
- ouput i
Pworomoomouenoe g
| Enter the value of %0 , %n , No. of subintervals Al
1179 ;
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, /1 Another solution to solve Simpson's (1/3)™ rule #
: #include<stdio.h>
: #include<conio.h>
#include<math.h>

main()

I

|

|

|

|

clrser(); I
inti,n; I
float h,y[100],sum1,sum2,sum3,Simp; i
sum2=0; sum3=0; i
printf(" Enter thevalue of interval n\n"); |
scanf(" %d" ,&n); :
|

|

|

|

|

|

|

]

printf(" \n Enter the value of h=x1-x0\n");
scanf(" %f" ,&h);

printf(" \n Enter thevalue of y[%d] \n" ,n);
for (i=0;i<=n-1;i++)

scanf(" %f" ,&yl[i]);

suml1=y[0]+y[n-1];

for(i=1;i<=n-2;i=i+2)
sum2=sum2+4*y[il;

for (i=2;i<=n-3;i=i+2)
sum3=sum3+2*y[i];

Simp=(h/3)* (sum1+sum2+sum3);
printf(" The Simpson's 1/3 rule=%f" ,Simp) ;

getch();
l..l ................................................................................ d
| Output |
! B D:ATCWINAS\BINYNONAMET0.EXE () !
Enter the value of interval n Al
P9 Il

;2

Enter the value of y[9?]
i B12345678

I I
I I
I I
I I
I I
I I
I I
I I
I I
i Enter the value of h=x1-x0 i
I I
I I
I I
I I
I I
¢ The Simpson's 1/3 rule=64.00800680 ;
I I
I I
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Construct backward & forward difference table and use Newton's
i interpolation formula ?

Explaining:

Newton's forward difference formula

f{x;+9h}ﬁ[1+ea+ew D s +...+*’W“"“W‘"+”an]_f_;-

! n'
Newton's backward difference formula

Sixj +06h) =~ [: +ev+‘_iﬂ%_'lv:+“_+m+ I}..-:ﬂ-l-n =1
n

“]s

/* Newton's forward difference formula*/

: #include<stdio.h> !
i #include<conio.h> i
| void main() |
1 |
| inti,n,j,k,I; :
| float xo, y[20], f[10][10],X[10],Y[10],h,u,p; !
Clrscr()

printf(" Enter the value of n(No.of data pairs- 1) : \n");
scanf(" %d" ,&n);
printf(" Enter theinitial value of x :\n");
scanf(" %f" ,&xo);
printf(" Enter thestep sizeh :\n");
scanf(" %f" ,&h);
printf(" Enter the values of y\n");
for (i=0;i<n+1;i++)
scanf(" %f" ,&y[i]);
printf(" Enter therequired no. of interpolated valuesof y :\n ");
scanf(" %d" ,&1);
printf(" Enter the %d valuesof X for which valuesof y arerequired :\n" |);
for (k=0;k<l;k++)
| scanf(" %f" & X[K]);
for(J =0;j<n+1;j++)
f[O11=ylil;
for(i=1;i<n+1;i++)
! | for (j=0;j <n+1-i;j++)
TG ]=-2 G+ - - 2001
for (k=0;k<I;k++)

YIk]=y[O];

i {
: u=(X[k]-x0)/h;
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for(i=1;i<n+1;i++)

{
p=p* (u-i+1)/i;
Y[k]=Y [K]+p*f[i][0];

}
printf(" Thevaluesof X and Y are: %f\t%f\n" X[k],Y[k]);

getch();

}

Output
| |
N W D:\TCWIN45\BIN\NONAME10. EXE -Of x| i
! !
E Enter the value of n{Ho.of data pairs - 1) : - :
] =
| Enter the initial value of x : -
P2 i
| Enter the step size h : !
P2 i
| Enter the values of y !
1 12 13 15 17 22 25 i
! Enter the required no. of interpolated values of y : :
P i
é Enter the 3 values of ¥ for which values of y are required : :
357 i
| The values of X and Y are : 3.000060  11.828125 !
i The values of X and ¥ are : 5.800088 14.171875 i
! The values of X and Y are : 7.808068 15.765625 J 5
i i
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/Il program for newton backward inter polation formula

| #include <stdio.h>

i #include <conio.h>

i #include <math.h>

i #define pf printf

1 #define sf scanf

| #define maxn 100

' #define order 4

 void main()

|

| float ax[maxn+1],ay[maxn+1],diff[maxn+1]
| [order+1],nr=1,dr=1,x,p,h,yp;

bint n,i,jk;

clrser();

i pf(" enter the value of n\n");

L Sf("%d" & n);

| pf(" enter the valuesin form x,y\n");
1 for(i=1;i<=n;i++)

{Sf(" 9% 19%f" & ax(i] & ay[i]):}

. pf(" enter the value of x for which value of y iswanted\n");
bsf(" %" & X);

- h=ax[2)-ax(1];

i for (i=n;i>=1;i--)

| {diff[i][1]=ay[i]-ay[i-1];}

i for(j=2;j<=order;j++)

1

| for (i=n;i>j;i--)

 {diff[i] [j]=diff[i][j-1]-diff[i-1][j-1];}

Li=n;
- p=(x-ax[i])/h;

L yp=ay[i];

i for(k=1;k<=order;k++)
{
L nrr=p+k-1,

L drx=k;

L yp+=(nr/dr)*diff[i][K];

f(" When X :%f\t y: %f" !lep)’
etch();

~—Q o

_______________________________________________________________________________________________________________
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| Output |
: Il D:\TCWINAS\BINWNONAME10. EXE -0lx%|
i enter the value of n all i
5 l§
\ enter the values in form ¥, o I
13 |
126 !
37 |
LR !
g 14 :
i enter the value of x for which value of y is wanted i
y |
g vhen ¥ =4.500000 Y= 13.226562 J :
Ly = N L o I J!
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Example (66)

write a programeto multiply two given matrixes ?
We assume two matrixes[3][3]
c[3][3]=a[3][3] * b[3][3]

Ci Co Cs A A A b..
C 021 sz Cza =a a-21 azz a23 *b b21
Csi Co Cs | |Qu Qw @s | |ba

(a11"b11 ta12"bp1 ta13"b31) (a11"bro Ta12 "bop *a13 b32)

C=|(a21"b11 Ta22 b1 Ta23"b31) (a21"b12 ta22 " boy ta23 " b32)

(a31"b11 Ta32 bpy ta33"b31) (a31 bz *a32 by *a33 b32)

Solution

i /I multiplication of matrices/
: #include<stdio.h>
i #include<conio.h>
main()
{
I clrscr();
I int a[3][3],b[3][3],c[3][3],S.i,} K;
I printf(" Enter the No. of matrix\n");
I for (i=0;i<=2;i++)
i for (j=0;j<=2;j++)
, scanf(" %d " & alil[j]);
: printf("*********************************\n");
for (i=0;i<=2;i++)
for(j=0;j<=2;j++)
scanf(" %d " ,&b[il[j]);
printf("*********************************\n");
for (i=0;i<=2;i++)
{
for(j=0;j<=2;j++)

s=0; for (k=0;k<=2;k++)
s=s+a[i][K]*b[K][j];
c[il[j]=s ;printf(" %d \t" ,[i][j]);

}
printf("\n");
}
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/I Another way for solution the multiplication of matrices//
#include<stdio.h>
#include<conio.h>
main()

{
int a[3][3],b[3][3],c[3][3].s;
inti,j,k;
clrser();
printf(" Enter the No. of matrix\n");
for (i=0;i<=2;i++)
for(j=0;j<=2;j++)
scanf(" %d " ,&a[i][j]);
prlntf(" *********************************\n" )’
for (i=0;i<=2;i++)
for (j=0;j<=2;j++)
scanf(" %d " & b[i][j]);

H n "y.
prlntf( *********************************\n )’

for (i=0;i<=2;i++)

{
for (j=0;j<=2;j++)
{
c[i][j]=0; for (k=0;k<=2;k++)
clil[jl=clil[j]+ali][k]*b[K][j];
printf(" %d \t" ,c[i][j]);
}
: printf("\n"); :
: } :
: getch(); ;
3 :
1 11(]2 11|16 6 6
c=12 2 212 2 2]=]12 12 12
| |
333|333 |18 18 18
Output _
Enter the No. of matrix =
111222333 ]

363636 3636 336 336 3636 3636363636 336 336 3636 363 303636 3636 3 X H

111222333

363636 3636 336 336 3636 3636363636 336 336 3636 363 303636 3636 3 X H

6 ] ]
12 12 12
18 18 18
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 Exmple(67).
| Implement numerical integration using Trapezoidal
‘& 1/3 Simpson Rule ¢

Explaining:
| h
2

| Trapezoidd rule=1=_[(y,+y,)+2(yy+ Yot Y, o]

b , h
; Simpson's1/3rule=| :5[(y0+ Y)Y Yot Y, )2 Yt Yty )
Solution

/% Trapezoida rule */
#include<stdio.h>
#include<conio.h>
main()

| clrscr(); |
; inti,n; ;
: float x0,xn,h,Trap,fx0,fxn,f,x; !
! printf(" Enter the value of X0, xn, No. of subintervals\n"); !
i scanf(" %f %f %d" ,&x0,& xn,& n); i
; h=(xn-x0)/n; :
| fx0=1/(1+x0*x0); |
! fxn=1/(1+xn*xn); !
! Trap=fx0+fxn; !
i for(i=1;i<=n-1;i++) .
l { l
i X=X0+i*h; i
! f=1/(1+x*X); !
! Trap=Trap+ 2*f; !
| } |
: Trap=(h/2)*Trap; :
| printf(" Valueof integral is %6.4f\n" , Trap); |
| getch(); |

B D:ATCWIN4S\BIN\NONAME10. EXE o =1f

Enter the value of %8 , %n , MHo. of subintervals -
1 2 6
© Yalue of integral is B8.3225 s
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. I*  Another solution for Trapezoidal rule by using functions */
#include<stdio.h>
| #include<conio.h> |
| #define f(X)(1/(1+x*X)) !
main() !
{ |
clrser(); |
inti,n; l
float xO,xn,h,Trap,x; l
printf(" Enter the value of x0, xn , No. of subintervals\n"); |
scanf(" %f %f %d" ,&x0,& xn,&N);
h=(xn-x0)/n; !
Trap=f(x0)+f(xn); !
for(i=1;i<=n-1;i++) !
{ |

X=x0+i*h; |

Trap=Trap+ 2*f(x); |
} l
Trap=(h/2)*Trap; l
printf(* Valueof integral is % 6.4f\n" , Trap); |
getch(); |

Output |
|

Enter the value of %8 , %n , MHo. of subintervals
1 2 6
© Yalue of integral is B8.3225
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i [* Another solution for Trapezoidal rule by using functions */
i #include<stdio.h>

i #include<conio.h>

i #include<math.h>

: main()

| clrscr();

Linti,n;

i float h,y[100],sum1,sum2,Trap;

| sum2=0:

i printf(" Enter thevalue of interval n\n");
+ scanf(" %d" ,&n);

printf(" \n Enter the value of h=x1-x0\n");
scanf(" %f" ,& h);

printf(" \n Enter the value of y[%d] \n" ,n);
for (i=0;i<=n-1;i++)

scanf(" %f" ,&yli]);

sum1=y[0]+y[n-1];

for (i=1;i<=n-2;i=i+2)
sum2=sum2+2*y[il;

Trap=(h/2)* (sum1l+sumz2);
printf(" The Trapezoidal rule=%f" ,Trap) ;

getch();
I
T T T T T T T T T T T 1
; Output ;
B W D:\TCWIN4S\BINWNONAME10. EXE - |o| x |
i Enter the value of interval n Al
i ? iy
: Enter the value of h=x1-x8 :
P2 i
| |
| Enter the value of y[9] |
E 123456789 :
i The Trapezoidal rule=50.8080000 j |
g T J
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[* 1/3 Simpson Rule */

| #include<stdio.h> |
#include<conio.h>
| main() |
| { |
| clrscr(); |
! inti,n; !
: float x0,xn,h,Simp,fx0,fxn,fxx,fx1,fx2,x1,x2,X; :
| printf("Enter the value of X0, xn, No. of subintervals\n"); |
l scanf(" %f %f %d",&x0,&xn,&n); l
| h=(xn-x0)/n; |
| x0=1/(1+x0*x0); |
fxn=1/(1+xn*xn);
| x=x0+h : |
! fxx=1/(1+x*X) ; !
! Simp=fx0+fxn+4*fxx; !
! for(i=3 ;i<=n-1;i=i+2) !

X1=x0+i*h;

x2=x0+((i-1)* h);
fx1=1/(1+x1*x1);
fx2=1/(1+x2*x2);
Simp=Simp+ 4*fx1+2*fx2;

Simp=(h/3)* Simp;
printf(" Value of integral is %6.4f\n",Simp);
getch();

_______________________________________________________________________________________________________________

: B D:ATCWINASIBINYNONAME10. EXE -|0lx

i Enter the value of %8 , %n , No. of subintervals &
170
| Value of integral is 0.6284 b

-

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 335 o g9 B Lindii ¢ s Jll) g (4 ABaluas B g 3 Sl Ll L) W g Sl aSaa ¥ gl 10 (e i)y JS

/* Another way to solve 1/3 Simpson Rule by using function */

i# include<stdio.h> l
# include<conio.h> |
# define f(x)(1/(1+x* X)) f
imain() i
{ |
L clrser(); !
inti,n; !
| float x0,xn,h,Simp,fx0,fxn,fxx,fx1,fx2,x1,x2,X; |
i printf(" Enter thevalue of X0, xn, No. of subintervals\n"); |
i scanf(" %f %f %d" ,&x0,& xn,&n); ;
- h=(xn-x0)/n; i
| x=x0+h : 5
- SImp=f(x0)+f(xn)+4*f();
for (i=3 ;i<=n-1;i=i+2) |

o

x1=x0+i*h;

x2=x0+((i-1)*h);

i Simp=Simp+ 4*f(x1)+2*f(x2);

)

i Simp=(h/3)* Simp;

. printf(" Valueof integral is %6.4f\n" ,Simp);

. getch();

S
. ouput
T S
| Enter the value of x8 , xn , No. of subintervals all
179 1
| Value of integral is .6284 ]!
| d
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, /1 Another solution to solve Simpson's (1/3)™ rule #
: #include<stdio.h>
: #include<conio.h>
#include<math.h>

main()

I

|

|

|

|

clrser(); I
inti,n; I
float h,y[100],sum1,sum2,sum3,Simp; i
sum2=0; sum3=0; i
printf(" Enter thevalue of interval n\n"); |
scanf(" %d" ,&n); :
|

|

|

|

|

|

|

]

printf(" \n Enter the value of h=x1-x0\n");
scanf(" %f" & h);

printf(" \n Enter thevalue of y[%d] \n" ,n);
for (i=0;i<=n-1;i++)

scanf(" %f" ,&yl[i]);

suml1=y[0]+y[n-1];

for(i=1;i<=n-2;i=i+2)
sum2=sum2+4*y[il;

for (i=2;i<=n-3;i=i+2)
sum3=sum3+2*y[i];

Simp=(h/3)* (sum1+sum2+sum3);
printf(" The Simpson's /3 rule=%f" ,Simp) ;

getch();
l..l ................................................................................ d
| Output |
! B D:ATCWINAS\BINYNONAMET0.EXE () !
Enter the value of interval n Al
P9 Il

;2

Enter the value of y[9?]
i B12345678

I I
I I
I I
I I
I I
I I
I I
I I
I I
i Enter the value of h=x1-x0 i
I I
I I
I I
I I
I I
¢ The Simpson's 1/3 rule=64.00800680 ;
I I
I I
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——————————————————————————————————————————————————————————————————————————————————————————————————————————————— -

' Example (68). |
Write a programme to calculate the total salary ,where if
the basic salary was greater than or equals 30,000 we input these
| values ( da=60%, hra=20% , ded=5%)and if the basic salary was |
- smaller than 30,000 we input these values ( da=30%, hra=15% ,
| ded=2%) ?

_______________________________________________________________________________________________________________

i #include<stdio.h> |
i #include<conio.h> |
. main() |
| l
i clrscr(); :
i float basic_salary,d,da,ded,hra,salary_amount,h,x1,x2; ;
i printf(" Enter thebasic_salary:\n"); 5
| scanf("%f " ,&basic_salary); !
i if(basic_salary>=30000) :
| { |
! d=60,h=20,ded=5; !
; da=basic_salary*(d/100); ;
! hra=basic_salary* (h/100); !
: x1=basic_salary+dathra; !
x2=x1* (ded/100);

salary_amount=x1-x2;

printf("\n The Total salary =%f" ,salary_amount);

| { |
| d=30,h=15,ded=2; |
| da=basic_salary*(d/100); |
l hra=basic_salary*(h/100); |
: x1=basic_salary+da+hra; :
! x2=x1* (ded/100); |
| salary_amount=x1-x2; |
! printf("\n The Total salary =%f" ,salary_amount); :

}
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fag) cobonll Lo sl bl s Bac! Ay 5l 5 i ghm 0 |

(0,0 (0,1 (0,2) (0,3
(1,0) (1,1 (1,2 (1,3
(2,0 (2,1 (2,2 (2,3

| #include<stdio.h> :
#include<conio.h> l
main()
{ :
int a[3][4],b[3][4].i,j,sum; |
float avg; !
sum=0; l
clrser(); !
printf(" Enter the No. of matrix a&b\n"); :
for (i=0;i<=2;i++) :

for (j=0;j<=3;j++) |

scanf(" %d " & a[i][j]); |
printf("*********************************\n"); :
for (i=0;i<=2;i++) |

for (j=0;j<=3;j++)

scanf(" %d " ,&Dbl[il[j]); |
printf("*********************************\n" )’ :
for (i=0;i<=2;i++) !
sum=sum-+(a[i][2]+b[i][2]); !
avg=sum/6; |

printf(" sum=%d \n avg=%f" ,sum,avg); :
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€ ag) bl Laus siall sl 5 Bec] a5l b sim 230

©0, ©1) (02, (O3
109, @@11) 12, (13
20| (21 (22 (23
#include<stdio.h>

i #include<conio.h>
i main()
{

- int a[3][4].b[3][4],i j,sum; |
\ float avg; :
| sum=0; :
| clrser(); E

printf(" Enter the No. of matrix a& b\n");
for (I=0;i<=2;i++)
for (j=0;j<=3;j++)
scanf(" %d %d" ,&a[i][j],.&b[i][i];
printf("*********************************\n");
for (j=0;j<=3;j++)
sum=sum-+(a[1][j]+b[1][i]);
avg=sum/8;
printf(" sum=%d \n avg=%Tf" ,sum,avg);
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Exmple(3).
. Find the roots of equations using Bisection Method? |

#include<stdio.h>
| #include<conio.h>
| #include<math.h>
| main()
A
L int itr,maxitr;
. float x,a,b,aerr,x1,fa,fb,fx;
. clrser();
printf(" Enter the value of a,b,allowed error,maximum iterations
i\n");
scanf(" %f %f %f %d" & a,&b,& aerr,& maxitr);
i x=(atb)/2;
| for (itr=1;itr<=maxitr;itr++)
| {
: fa= a*a-4*at+3;
| fx= xX*x-4*x+3;
l if(fa*fx<0)
l b=x;
| else
| a=x;
; x1=(a+b)/2;
' if (fabs(x1-x)<aerr)
{
printf(" After %d iterations, root=% 6.4f\n" ,itr ,x1);
return O;
}

x=x1;

}
printf(" Iterations not sufficient, solution does not coverge\n");
return 1;
getch();
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!Bisection Method 44 b alaaiuly ddaladl e3a J‘A—*JJ zalbin h)‘ |
Exmpl e(3).

__________________________________________________________________________________________________________________

! [* without using #include <math.h> */
' #include<stdio.h>
| #include<conio.h>

imain() |
I
L int itr,maxitr; |
. float x,ab,aerr x1,fafb,fx,x1x;
| clrscr();
i printf(" Enter the value of a,b,allowed error,maximum iterations
\n");
| scanf(" %f %f %f %d" ,&a,&b,& aerr,& maxitr);
| x=(at+b)/2;
| for (itr=1;itr<=maxitr;itr ++)

{

fa= a*a-4*a+3;
fx= x*x-4*x+3;
if(fa*fx<0)
b=x;
else
a=x;
x1=(a+b)/2;
if(x1-x)<0)
XIx=-(x1-X);
else
xIx=(x1-X) ;
if(x1x<aerr)
{
printf(" After %d iterations, root=% 6.4f\n" ,itr ,x1);
return O;

x=x1;
) | . |
printf(" Iterations not sufficient, solution does not coverge\n™);
return 1;
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(73) Jbs |
‘Newton Raphson Method 48 b alasinls Alalaall ) sda alaB mali g 3a ) |

Exmple(4).

' Method?

| #include<stdio.h>
| #include<conio.h>
| #include<math.h>
. main()
A
. int itr,maxitr;

i float h,x0,x1,aerr fx,fxx;

i clrscr();
i printf(" Enter x0,allowed error,maximum iterations\n");
i scanf(" %f %f %d",& x0,& aerr,& maxitr);

| for (itr=1;itr<=maxitr;itr++)

h=fx/fxx;

: {

: fx= x0*x0-4*x0+3;

I fxx= 2*x0-4;

i x1=x0-h :

printf(" Iteration no. % 3d, x=%9.6f\n" ,itr x1);

| if(fabs(h) <aerr)

| {

; printf(" After % 3d iteration,

| root=%8.6f\n" ,itr ,x1);

return Q;

| }

i x0=x1;

)

i printf(" Iterations not sufficient, solution does not coverge\n”);
. return1;

- getch();

B J
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(74) Qs |
‘Newton Raphson Method 48 b alasinls Alalaall ) sda alaB mali g 3a ) |

Exmple(4).

' Method?
| _without using #include <math.h>

| #include<stdio.h>
| #include<conio.h>
' main()
{

int itr,maxitr;

float h,x0,x1,aerr ,fx,fxx;

clrscr();

printf(" Enter x0,allowed error,maximum iterations\n");
scanf(" %f %f %d" ,& x0,& aerr,& maxitr);

for (itr=1;itr<=maxitr;itr ++)

fx= x0*x0-4* x0+3; !
fxx= 2*x0-4; |
h=fx/fxx; I
x1=x0-h ; I
printf(" Iteration no. % 3d, x=%9.6f\n" ,itr x1); !
if(h<0) |
h=-h; f

else |
h=h; l

if(h <aerr)

{
printf(" After % 3d iteration, root=% 8.6f\n" ,itr x1);

return O;

printf(" Iterations not sufficient, solution does not coverge\n”);
return 1;
getch();
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 (75) Jba
fTrapezoidal rule& 1/3 Simpson rule

Exmple(75).
Implement numerical integration using Trapezoidal |
‘& 1/3 Simpson Rule ¢ i

/% Trapezoida rule */

| #include<stdio.h> |
#include<conio.h>
main()
| q |
clrscr();
inti,n;
float x0,xn,h,Trap,fx0,fxn,f x; |
printf("Enter the value of X0, xn, No. of subintervals\n");
| scanf(" %f %f %d",&x0,&Xxn,&N); |
h=(xn-x0)/n;
| fx0=1/(1+x0*x0); |
fxn=1/(1+xn*xn);
Trap=fx0+fxn;
for(i=1 ;i<=n-1;i++)
{
X=X0+i1*h;
| f=1/(1+x*X); |
Trap=Trap+ 2*f;
| } i
Trap=(h/2)* Trap;
printf(" Vaue of integral is %6.4f\n", Trap);
getch();
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[ 1/3 Simpson Rule */

| #include<stdio.h> |
#include<conio.h>
| main() |
{
clrscr();
inti,n;
float x0,xn,h,Simp,fx0,fxn,fxx,fx1,fx2,x1,x2,x; |
; printf("Enter the value of X0 , xn , No. of subintervals
An"); |
scanf(" %f %f %d",&x0,&xn,&N);
h=(xn-x0)/n;
fx0=1/(1+x0*x0);
fxn=1/(1+xn*xn);
x=x0+h ;
fXx=1/(1+x*X) ;
Simp=fx0+fxn+4*fxx;
for(i=3 ;i<=n-1;i=i+2)
{
X1=x0+i*h; §
x2=x0+((i-1)*h);
fx1=1/(1+x1*x1);
fx2=1/(1+x2*x2);
Simp=Simp+ 4*fx1+2*fx2;

| } |

| Simp=(h/3)* Simp; |

| printf(" Value of integral is %6.4f\n",Simp); |
getch();
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Exmple(76).
| Construct backward & forward difference table and
- use Newton's interpol ation formul af

main()

{

clrser();

Lintijk,n; |
1 float ax]M AXN+1],ay[M AXN+1],diff[MAXN+1][ORDER+1],x,p,h,yp,nr dr; :
L nr=1.0; :
L dr=10; !
i printf(" Enter thevalue of n\n"); i
. scanf(" %d " ,&n); :
i printf(" Enter thevaluein form x,y\n"); :
| for(i=0;i<=n;i++) !
| scanf(" %f %f " & ax[i].&ay[i]); !
i printf(" Enter the value of x for whixh value of y iswanted \n");

. scanf(" %f " ,&Xx); |
i h=ax[1]-ax[0]; |
| /* now making diff table*/ :
| for (i=0;i<=n-L1;i++) !
- diff[i][1]=ay[i+1]-ay[i]; '
i for (j=2;j<=ORDER;j++) |
t for (i=0;i<=n-j;i++) ;
L diff[i[j]=diff[i+1][j-1]-diff[i][j-1] ; !
i /* now finding x0 */ !
i 1=0; while(|(ax[i] > x)) i++; !
. /* now ax[i] isx0 & ay[i] isyo*/ :
L i=i-1, l
- p=(x-ax[i])/h; |
L yp=ay[i]; !
. for (k=1;k<=ORDER;Kk++) i
{ l
i nr=nr*(p-k+1); dr=dr*k; yp=yp+((nr/dr)*diff[i][K]); |

printf(" when x=%f, y=%f \n" X,yp);
getch();
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Exmple(77).
| Write a C programme by using functions to
calculate the area of rectangle, triangle and squaref

| /] |
| #include<stdio.h> |
E #include<conio.h> 5
i rectangle(a,b) !
i float a,b; |
| { |
| float d; |

d=a*b;
| return(d); |
: ) |
| triangle(a,b) |
| float a,b; m D:ATCWINAS\BIN... [H[=] |
i { ] Enter the Ho.: - i
i float s, 2 — !
i s=0.5*a*b; 3 e |
| return(s); |
i Rectangle=6.0808000 i
! Triangle=3.0080808088 !
. square(a,b) Square=4.000000
i float a,b;

{ -

float m; 4l | ’

m=a*a;

return(m);

}

main()
{
clrser();

printf(" Enter the No.:");

scanf(" %f %f",&a,&b);

areal=rectangle(a,b);

area2=triangle(a,b);

area3=square(a,b) ;

printf("\nRectangle=%f \n Triangle=%f \n Square=%7f" ,areal,area2,area3);

i float a,b,areal,area?,ar ea3; :
i getch(); l
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End Semester Examination
M.Tech —1 sem all branches ,July-Dec 2009 Comp-805
COMPUTER PROGRAMMING
Max. Marks:. 40
Time: 2hours Note: All questions are compulsory
Marks areindicated alongside the questions

Q: 1 state wether the following statementsareright or wrong (10)
) Int a,b; ( wrong )
(i) IF (a<B) ( wrong )
(iii)  printf(enter the numbersa and b); ( wrong )
(iv)  getch(); ( right )
(V) for (i=0;i<=8;n++) ( wromg)
Q: 2writea C programmeto calculate the z=2(2L +2b) (©)]
. +2h?
Q: 3writea C programmeto calculate the 3_273 3
C
Q: 4writea C programmeto calculate the factorial of number by suing of functions ©)]
Q: 5writeaC programmeto sort alist of 20 elements 3
Q: 6 writea C programmeto add 75 to the 20th item in a array containing 100 elements (3)
Q: 7writea C programmeto select the greatest of 100 given numbers 3
2
e > (x—a) . |
Q: 8writea C programmeto calculatethe Z=—————* for 20 observationswhereain
2 X
arithmetic mean 3

Q: 9writeaalgorithm to calculatethe integral of a tabulated function using the Simpson's 1/3 rule 3

Q: 10 writea C programmeto calculate theroots of a equation using, bisection method 3
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Q: 2writea C programmeto calculate the z=2(2L +2b)

Solution

#include<stdio.h>
#include<conio.h>
main()
{
clrser();
float z,L ,b;
printf(" Enter the value of variables: \n");
scanf(" %f %f" ,&L,&Db);
7=2*(2*L+2*b);
printf(" Thevalueof zis%f",z);
getch();
}

. Z+2h?
Q: 3writea C programmeto calculate the a:73
C
Solution

#include<stdio.h>
#include<conio.h>
main()
{
clrser();
float a,z,b,c;
printf(" Enter the value of variables: \n");
scanf(" %f %f %f" ,&z,&b,&cC);
a=(z+2*b*b)/(c*c*c);
printf(" Thevalueof ais%f" ,a);
getch();
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Q: 4writea C programmeto calculate the factorial of number by suing of functions

Solution

#include<stdio.h>

#include<conio.h>

#define f(x)(k*i)

main()

{

int n,i,k=1;

printf(" Enter the value of n: \n");

scanf(" %d" ,&n);
for(i=1;i<=n;i++)

k=t(i);
printf(" %o d\n" k);
}
printf(" factoreal[% d]=%d" ,n,k);
getch();
}

/* Another solution */

#include<stdio.h>
#include<conio.h>
#define f(x)( c[b-1]*b)
main()
{
int a,b,c[70];
clrser();
printf(" Enter the number: \n");
scanf(" %d" ,& a);
c[0]=a;
for(b=1;b<a;b++)
{
c[b]=f(b);
printf(*\n%d" ,c[b]); /* b=4 */

}
printf(" \nfactorial[%d]%d=%d" ,a,b,c[b-1]); /* b=5 */
getch();
}
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Q: Swritea C programmeto sort alist of 20 elements
Solution
#include<stdio.h>
#include<conio.h>
main()
{
clrser();
inti,j,a[20],t;
printf(" Enter the No.\n");
for (i=0;i<=19;i++)
scanf(" %d" ,&a[i]);
for (i=0;i<19;i++)
{
for (j=0;j<19;j++)
{
if(alj]>alj+1])
L
t=afj];
a[j]=alj+1];
afj+1]=t;
}
}
for (i=0;i<=19;i++)
printf(" % d\n" ,a[i]);
getch();
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Q: 6writea C programmeto add 75 to the 20th item in a array containing 100 elements

Solution

#include<stdio.h>
#include<conio.h>

main()

{
clrser();
int i,a[100];
float sum;

printf(" Enter the numbers");
for (i=0;i<=99;i++)

{

scanf(" %d" ,&a[i]);

}

sum = 75+a[19];

printf("\t thesum of 75tothe 20th item is= %f" ,sum);
getch();
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Q: 7writea C programmeto select the greatest of 100 given numbers

Solution

#include<stdio.h>
#include<conio.h>
main()
{

clrser();

int i,j,a[100],b,max=0;

for (i=0;i<=99;i++)
{
scanf(" %d" & a[i]);

}
for (i=0;i<99;i++)

{
for (j=0;j<99;j++)
{
if(a[j]>?[j+1])
max=a[j];
afj]=a[j+1];
afj+1]=max;
}
) }
printf("\n max=%d***" a[i]);
getch();
}

#include<stdio.h> /*  Another solution */
#include<conio.h>
main()
{

clrser();

int i,a[100],big;

printf(* Enter the numbers');

big=0;

for (i=0;i<=99;i++)

{
scanf(" %d" ,&a[i]);
if (a[i]>big)
big=a[i];

}
printf("\n The biggest number is%d" ,big);
getch();
}
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| ¥ (x°-a) | |
Q: 8writea C programmeto calculatethe Z=——"——= for 20 observationswhereain
) Xj
arithmetic mean
Solution

#include<stdio.h>
#include<conio.h>
main()

{

clrser();
int ob[20],5=0,i;
float a,z=0;
printf(" Enter the No.\n");
for (i=0;i<=19;i++)
scanf(" %d" ,& ob[i]);
for (i=0;i<=19;i++)
s=st+abli];
}
a=5/20;
for (i=0;i<=19;i++)

z=z+(((ob[i]*ob[i])-a)/s);
}

printf(*\n Thevalue of zis%f\n",2);

getch();
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Q: 9writeaalgorithm to calculate the integral of atabulated function using the Simpson's /3 rule

Solution

Algorithm:

Stepl: Read n (even) (then number of intervals), ab (the limits of the integral)

Step2: Define F(x)

Step3: Compute h=(b-a)/n , the interval size and P= F(A) +F(B)

Step4: Initialize i=1 and m=4 and compute the sum P= P+m* F(a+ih)

StepS: If | =n then print Simp= hp/3, the value of the integral and terminate the process,
otherwise go to step 6

Step6: Replace the sum P by P+ m*F(a+ih), i by i+1 and m by 6-m and go to Step 6
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Q: 10 writea C programmeto calculate theroots of a equation using, bisection method

I= 13—&(1‘(_1'0) +4f(x) + 21(x) T4A5) + - - H4f{x, ) + 2Hx, ) T 415 )+ Haw)

Solution

#include<stdio.h>

#include<conio.h>
#include<math.h>
# define f(X)(x*x-4* x+3)
main()

Lt

int itr,maxitr;

float x,a,b,aerr x1,fa,fb,fx;

clrser();

printf(" Enter the value of [a],[b],[allowed error],[maximum iterations]: \n");
scanf(" %f %f %f %d" ,& a,&b,& aerr,& maxitr);
x=(a+b)/2;

for (itr=1;itr<=maxitr;itr++)

if (f(@)*f(x)<0)

b=x;

else

a=x;

x1=(a+b)/2;

if(fabs(x1-x)<aerr)
{

printf(" After %d iterations, root=% 6.4f\n" ,itr x1);
return O;

}

x=x1;
}

printf(" Iterations not sufficient, solution does not cover ge\n™);
return 1,

getch();
}
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E Example 1. Find the value of -E
i - i
| j x"log x dx ;
| 3 |
i by taking 4 strips. i
| |
i Solution ,

We will solve this example by tow methods
1- Trapezoida | rule =| =2[(yo+ Vo) +2(y Y+t Y, )l

. , h
2- Simpson' s1/3 rule =I=§[(y0+ Y)Y Yty )2y, Y et Y, )]

1- by Trapezoidarule:-
Trapezoidal rule =1 =2[(yo+ Vo) +2(Y+ Yt +y, )l

by taking 4 strips, so hszl
X Y =x"log(x)
Xo 3 Yo 9.8875
X1 4 Y1 22.1807
X 5 Y, 40.2359
X3 6 Y3 64.5033
X4 7 Y4 95.3496

Trapezoidal rule=| :;[(9.8875+95.3496)+2(22.1807+40.2359+64.5033)]

Trapezoidal rule=1= 179.5385

[*  Cprogrammeto solve Trapezoidal rule */
#include<stdio.h>
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'#include<conioh> §

! #include<math.h>
| #define f(x)(x* x*log(x))

' main()

{

| clrscr();

| Inti,n;

i float xO,xn,h, Trap,x;

L \n\n");
! printf(" Enter the value of X0, xn, No. of subintervals\n");
| printf("----------mmmm oo \n\n");
i scanf(" %f %f %d",&Xx0,&xn,&n);

PR (" = m e m e \n\n");
! h=(xn-x0)/n;

I printf("\t h=(Xn-X0)/n=%f \n",h);

| PN (" = \n\n");
v Trap=f(x0)+f(xn);

Lorintf(" X Y =x~2log(x) \n"):

| printf (" -=-mmmmmmm e m e \n\n");

|printf(" %f  %f \n",x0,f(x0));
for(i=1;i<=n-L1;i++)
{
X=X0+i*h;
printf(" %f  %f \n"x,f(x));
Trap:Trap+ 2*f (X) ;
}

Trap=(h/2)* Trap;
printf(" \t Value of integral is %6.4f\n", Trap);
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B DATCWINAS\BIN\NONAMET 1. EXE Oy
Enter the value of x8 , xn , Ho. of subinterwvals
3 Fi h
h={sn-x8)/n=1.0008008
X Y=x"21og(x)
3.000000 0._887511
L. 80808080 22.1887148
L.a08a80a LB.235948
6.0800808040 64.583311
f.00008080 0L 349597
Value of integral is 179.5385 Jj
1| | 3
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2- by Simpson,s 1/3 rule:-

. , h
Simpson' s1/3 rule = =§[(yo+ Y)Y+ Yty )2yt Y et Y, )

by taking 4 strips, SO h= 7_3:1
X Y =x* log(x)
Xo 3 Yo 9.8875
X1 4 Y1 22.1807
X 5 Y, 40.2359
X3 6 Y3 64.5033
Xa 7 Y., 95.3496

Simpson' sU/3 rule = :;[(9.8875+95.3496)+4* (22.1807 +64.5033) + 2* (40.2359)]

Simpson's 1/3rule=I= 177.4816
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,r [* C programmeto solve 1/3 Simpson Rule */
| #include<stdio.h>
| #include<conio.h>
1 #include<math.h>
| #define f(x)(x*x*log(x))
| main()
{
clrser();
inti,n;
float x0,xn,h,Simp,x1,x2,X;
1 PNEF (= mm e e e e e e e \n\n");
! printf(" Enter the value of X0, xn, No. of subintervals\n");
| Printf("---mmmmmmmm o \n\n");
I scanf(™" %f %f %d",&Xx0,&xn,&n);
! PN (" === = mm e \n\n");
| h=(xn-x0)/n;
| printf("\t h=(Xn-X0)/n=%f \n",h);
PN (- mm e m e \n\n");
!x=x0+h;
| Simp=f(x0)+f(xn)+4*f(x);
i printf(" X Y =x"2log(x) \n");
0 PrNEE (=== mm e m e \n\n");
| printf(" %f  9%f \n",x0,f(x0));
for(i=3 ;i<=n-1;i=i+2)
{
X1=x0+i*h;
printf(" %f  %f \n" x1,f(x1));
x2=X0+((i-1)*h);
printf(" %f  %f \n" x2,f(x2));
Simp=Simp+ 4*f(x1)+2*f(x2);
}
printf(" %f  %f \n",xn,f(xn));
PN (=== = m e e e e \n\n");
Simp=(h/3)* Simp;
printf(" Vaue of integral is %6.4f\n",Simp);
getch();

e e - e o e o e e e e S e e A S e EEEE S B S S S B e BN S EE S B S SN S EE M B S B M B e Ee e S S S Emae S meee e e s sl

o e o e e o e o e o e o E—— = E— =
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Bl DATCWIN4AS\BIN\NONAMET1.EXE -0 x

X ¥=x"21o0g(x)
J.080808088 o._8875%11
o.0008088 o4.583381
L.B00aane hB. 235948
f.0888488 oL 349597

Ualue of inteqral is 177 .4817

o By
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| I
| 1 |
s e s
| : |
| |
| |

by using the trapezoidal rule with h=0.5, 0.25 and 0.125.
Solution

by Trapezoidarule:-

Trapezoida | rule =| =2[(y0+ Y)+2(y1+Ystty, o]

1- at h=0.5
X Y=1/1+x"2

Xo 0 Yo 1
Xl 05 Y1 08
X2 l Y2 0.5
Trapezoidal rule =1 :;[(1+0.5)+2(0.8)]
Trapezoidal rule=1= 0.7750
2- at h=0.25
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X Y =1/1+x"2
Xo 0 Yo 1
X1 0.25 Y, 0.9412
X, 05 Y, 0.8
X3 0.75 Y3 0.64
X4 1 Y4 0.5

Trapezoidal rule =1 =;[(1+0.5)+ 2(0.9412+0.8+0.64)]

Trapezoidal rule=I= 0.7828
3- at h=0.125

X Y =1/1+x"2
Xo 0 Yo 1
X1 0.125 Y, 0.9846
X5 0.25 Y, 0.9412
X3 0.3750 Y3 0.8767
X4 0.5000 Y, 0.8
Xs 0.6250 Ys 0.7191
X6 0.75 Yo 0.64
X7 0.8750 Y7 0.5664
Xg 1.0000 Yg 0.5

Trapezoidal rule =I :;[(1+ 0.5)+2*(0.9846+0.9412+0.8767 +0.8+0.7191+0.64+0.5664)]

Trapezoidal rule=1= 0.7847

i [*  Cprogrammeto solve Trapezoida rule */ |
1 #Finclude<stdio.h> 1
| #include<conio.h> !
| #include<math.h> |
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| main() }
| { I
' clrscr(); :
linti; !
| float x0,xn,h, Trap,x,n; |
L 0 1 \n\n"); :
! printf(" Enter the value of X0, xn & h\n"); !
| Printf("-------m-mmmmm oo \n\n"); |
' scanf(" %f %f %f",&x0,&xn,&h); !
| h=(xn-x0)/h ; |
| printf("-------------------- Subinterval -------------------- \n\n"); |
' printf(" 1- At h=[%f] \n",h); !
| orintf("\t n=(Xn-X 0)/h=9%f \n",n); |
| Printf("-------m-mmmmmmm e \n\n"); |
' Trap=f(x0)+f(xn); '
! printf(" X Y=x"2log(x) \n"); !
| printf("---------mmmmmm oo \n\n"); |
iprintf(" %f  %f \n",x0,f(x0)); i
, for(i=1;i<=n-1;i++) X
I { I
i X=x0+i*h; i
" printf("  %f  %f \n" x,f(x)); "
I Trap=Trap+ 2*f(X); I
1 } 1
L oorintf( %f  9F \n" xn.f(xn)): :
| printf("-----mmmmm oo \n\n"); |
i Trap=(h/2)* Trap; i
o printf(" \t Value of integral is %6.4f\n", Trap); "
I getch(); I
| ) |
e e . 1
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B D:\TCWIN45S\BIN\NONAME11. EXE - | %]
Enter the value of =8 , xn & h T
a 1 a.c

———————————————————— Subinterval---————--—---——-—————-

1- At h= [0.500000]
n=(Xn-X8) /h=2 . 600000
X ¥Y=x"21log({x)
8._0000008 1.0800000
0.500000 0.800000
1.000000 0.500000
Ualue of integral is B.7758 -

4 [

BN D:\TCWIN4S\BINNONAME11.EXE - o] x|
Enter the value of %8 , %n & h e

2- At h= [8.250000]
n={sn-s8)/h=4.0808808488

b VY=x"21log{x)
A.08808008 1.068088008
a.250000 a.941176
A.5a0008 A.8000008
a.750000 a.640000
1.00006008 a.500000

Value of integral is B.7828
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B DATCWINAS\BINAMOMAME1 1. EXE
Enter the value of x8 , %xn & h b
a 1 a.12%
———————————————————— Subinterval--————————-————————-
3- At h= [B.1258088]
n={Xn-X8)/h=8_.08008000
X ¥Y=x"21og({x)
8.0080088 1.080000
8.125088 8.984615
8.2500848 B.91176
8.375000 B.876712
8.-0008088 a.8000408
8.625080808 a.7191m1
8.75008488 a.6400840
8.875084808 B8.566372
1.0888008 a.-00084808
Value of integral is B.7847 f
4 3

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

|

|

| ; t

| @ [tsintd ) |
| 0

i using the trapezoidal rule.

|

L
=
]
T

Solution

(@ Tt.sin(t)dt . by Trapezoidarule:-
0

Trapezoida | rule =| :2[(y0+ Y +2(Y+Ygtaty, o)l

by taking 4 strips, so h="" _Ozf
4 4
X Y=t*sin(t)
X0 0 Yo 0
X1 T Y, 0.5554
4
X T Y, 15708
2
X 3r Vs 1.6661
4
X4 T Y4 0

Trapezoida | rule :|=2ff4[(0+ 0)+2*(0.5554 +1.5708 +1.6661)]

Trapezoida | rule=1= 2.9785
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-—----n"—--——--—-—---—--—-—---—--=—-- - - —=—-—=- - —=—- === = |
' #include<conio.h>

, #include<stdio.h>
| #include<math.h>
1 #define f(X)(x)
| #define df(x)(sin(x))
' main()
X
i clrser();
 doubleresult,pi;
| doublexrad; /* anglein radians*/
i double xdeg; /* anglein degrees*/
inti;
' float x0,xn,h,Trap,x,n,a,b,m;
! Printf(" ----m-mmmmmmm oo \n\n");
| printf(" Enter thevalueof h\n");
» printf(" \n\n");
| X0=0;xn=pi=4.0*atan(1.0);
1 scanf(" %f" ,&h);
| n=(xn-x0)/h ;
i printf(" Subinter val------------==------ \n\n");
, printf("\t h=[%f] \n" ,h);
| printf("\t n=(Xn-X0)/h=%f \n" n);
printf(" \n\n");
xrad = x0;
xdeg = xrad * 180.0/ pi;
a=sin(xrad);
xrad = xn; xdeg = xrad * 180.0/ pi;
b = sin(xrad);
Trap=f(x0)*df(a)+f(xn)*df(b);
printf(" X Y=t*sin(t) \n");
Printf(* ----mm-mmmmmm oo \n\n");
printf(" %f  %f \n" ,x0,f(x0));
for(i=1;i<=n-1;i++)

i
a
i
i
i
g
| 1
i
i
i
i
i
g

x=X0+i*h;

xrad = x; xdeg = xrad * 180.0/ pi;

m = sin(xrad);

printf(" %f  %f \n" x,f(x)*df(m));
Trap=Trap+ 2*f(x)*df(m);

}

printf(" %f  %f\n" xn,f(xn));

printf(" \n\n");
Trap=(h/2)*Trap;

printf(" \t Value of integral is %6.4f\n" ,Trap);
getch();
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B D:\TCWIN45S\BIN\NONAME11. EXE HEER

F

Enter the value of h

h= [B8.256660]
n={Xn-XB8)/h=12.566371

X Y=txsin({t)
A.000000 A.00006080
A.250000 A.861222
a.sa000a 8.238635
A.750000 B.472550
1.08000888 B. 745624
1.250008 1.016031
1.500000 1.260172
1.7500008 1. 4572044
2.0000008 1.578145
2.25008008 1.579294
2.50008008 1.408452
2.75808008 1.824272
3.141593 3.141593

Value of integral is 2.70884

Ahmad_engineer 21@yahoo.com BN 38 teaa daa) o




A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

t
0) (" )t
—2(5+2t)
by Trapezoidarule:-

Trapezoidal rule =1 =2[(y0+ Vo) +2(Y+ Yt +y, )l

2-(-2)_4_

by taking 4 strips, sO h= 1
4 4
X Y =t/(5+2t)
Xo -2 Yo -2
X4 -1 Y, -0.3333
Xs 0 Y, 0
X3 1 Y3 0.1429
X4 2 Y, 0.2222

Trapezoidal rule =1 :;[(—2+O.2222)+2* (—0.3333+0+0.1429)]

Trapezoida |l rule=1= -1.0793
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! [*  C progranmeto solve Trapezoidal rule */ 1
| #include<stdio.h>

' #include<conio.h>

| #include<math.h>

| #define f(X)(x/(5+2* X))

"' main()

X

| clrscr();

'inti;

! float xO,xn,h, Trap,x,n;

| PRI (" -mmmm e m e s e e e e e \n\n");
' printf(" Enter the value of X0, xn & h\n");

T L G \n\n"):
| scanf(" %f %f %f",&x0,&xn,&h);

' n=(xn-x0)/h;

! printf(*-------------------- Subinterval-------------------- \n\n");
| printf("\t h=[%f] \n",h);

i printf("\t n=(Xn-X0)/h=%f \n",n);

b PN (== mm e m e \n\n");
| Trap=f(x0)+f(xn);

i printf(" X Y=x"2log(x) \n");

¢ PNt (" -mmmmm e m e \n\n");

| printf(" %f  %f \n",x0,f(x0));
for(i=1;i<=n-1;i++)

{
X=XO0+i*h;
printf("  %f  %f \n" x,f(X));
Trap=Trap+ 2*f(x);
}
printf(" %f  %f \n",xn,f(xn));
Printf (" ----=--mmmmm o mm oo \n\n");

Trap=(h/2)* Trap;
printf(" \t Value of integral is %6.4f\n", Trap);
getch();
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B D:\TCWIN45\BINWNONAME11. EXE m=IF
Enter the value of x8 , xn & h s
-2 2 a.25% _J

———————————————————— Subinterval---—————-——-———————-

h= [B8.2586888]
n={in-x8)/h=16_0000804
b VY=x"21og{x)
-2 .868808 -2 ._88068488
-1.7588808 -1.166667F
-1.580880808 -8.750084808
-1.250880808 -8.580084808
-1.80008008 -A.333333
-a.7500008 -A.214286
-8.50800008 -8.1250808
-8.2500008 -a.855550
a.08008008 8.08008008
a.250008 8. 845455
a.5000008 8.883333
A.7c00a88 B.115385
1.8480008 0142857
1.250008 B.166667
1.580008 8187540
1.7500088 B.205882
2._8a0008 0222222
Value of integral is -8.7717 Jﬂ
4 »
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by Simpson’s rule, with 4 strips and 8 strips, respectively.
Determine the error by direct integration.
Solution

C—

by Simpson,s 1/3 rule:-

_ , h
Simpson’ s1/3 Iru|e=l=§[(yo+ Y)Y+ Yttt Yo )+ 2Y o+ Yt Y, o)l
1- at stripsequals 4, so

_3—1_ 1
4 2
X Y =1/x
Xo 1 Yo 1
X1 15 Y. 0.6667
X5 2 Y, 0.5
X3 2.5 Y; 0.4
X4 3 Y, 0.3333

Simpson' sU/3 rule =|=é[(1+0.3333)+4* (0.6667 +0.4)+2* (0.5)]

Simpson's 1/3rule=I= 1.10000002 4

Direct Error=| True value -Simpson's /3 rule |
Direct Error=| In(3) —1.100000024|=0.001388

| 1+ C programme to solve 1/3 Simpson Rule  */ |
| #include<stdio.h> |
1 #Finclude<conio.h> '
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I"tinclude<math.h> )
| #define f(X)(1/X)

"' main()

A

| clrscr();

'inti,n;

! float x0,xn,h,Simp,x1,x2,x,True_vaue=log(3),Direct_error;
| PrNEE (" == mmmmmmm e o \n\n");

' printf(" Enter the value of X0, xn, No. of subintervals\n");
T o G — \n\n™):

| scanf(" %f %f %d",&x0,&xn,&n);

0] \n\n");
I h=(xn-x0)/n:
| printf("\t h=(Xn-X0)/n=%f \n",h);

PN (" -m - mmmmmmm e \n\n");
! X=X0+h;

| Simp=f(x0)+f(xn)+4*f(x);

i printf(" X Y =x"2log(x) \n");

b PN (== mm e m \n\n");

| printf(" %f  %f \n",x0,f(x0));

i for(i=3 ;i<=n-1;i=i+2)

v

| X1=x0+i*h;

i printf(" %f  %f \n" x1,f(x1));
' x2=x0+((i-1)* h);

I printf(" %f  %f \n" x2,f(x2));
i Simp=Simp+ 4*f(x1)+2*f(x2);
v

| printf(" %f  %f \n",xn,f(xn));
i O N (" == m e e e \n\n");

1 Simp=(h/3)* Simp;

| printf(" Vaue of integral is %6.9f\n",Simp);

i printf(*'------------- Direct Error---------=-==-==nnnnmnum-- \n\n");
i Direct_error=fabs(True_value-Simp);

| printf(" Value of Direct error is %6.6f\n",Direct_error);

| getch();
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Enter the value of %8 , ¥xn , Ho. of subintervals =

X vY=x"21log{x)
1.00008008 1.008080008
2.5000808 A_hAaaaa8
2_04a0008 f.5000a8
J.aae068 0.333333

Value of integral is 1.1808088024
————————————— Direct Error--------—---—————————————-

Ualue of Direct error is 0.081388 _j:J
3

K
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2- at strips equals 8, so

311
h=" "==
8 4
X Y =1/Xx
Xo 1 Yo 1
X1 1.25 Y, 0.8
X5 15 Y, 0.6667
X3 1.75 Y3 0.5714
X4 2 Y, 0.5
Xs 2.25 Ys 0.4444
X6 2.5 Ys 0.4
X5 2.75 Y 0.3636
Xg 3 Ys 0.3333

. i[(1+O.I’>333)+4* (0.8+0.5714+0.4444
Simpson’' s1/3rule =1=| 12

+0.3636)+2*(0.6667 +0.5+0.4)]
Simpson’' s /3 rule=I= 1.09872531 9

3.1
True_ value=[(-)dx=In(3)—In(D)=In(3)

1 X
Direct Error=| True value -Simpson's 1/3 rule |
Direct Error=| In(3) —1.098725319|=0.000113
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| /¥ Cprogrammeto solve U3 SimpsonRule */ K

1 #include<stdio.h> -
| #include<conio.h> :
| #include<math.h> '
1 #define f(X)(1/x)

| main()

| {

1 clrser();

! inti,n;

| float x0,xn,h,Simp,x1,x2,x,True_value=log(3),Direct_error;
1 \n\n");

! printf(" Enter the value of X0, xn, No. of subintervals\n");
T \n\n");

1 scanf(" %f %f %d",&Xx0,&xn,&N);

! Printf (" -=-==-mmmmmmmmm oo \n\n");

| h=(xn-x0)/n; printf("\t h=(Xn-X0)/n=%f \n",h);

PPN (" -m - mm e mmmm e o \n\n");

L X=x0+h;

| Simp=f(x0)+f(xn)+4*f(x);

Vprintf(" X Y=x"2log(x) \n");

! Printf (" ------mmmmmm e \n\n");

I for(i=3 ;i<=n-1;i=i+2)

v

| X1=x0+i*h;

! printf("  %f  %f \n",x1,f(x1));
L x2=x0+((-1)*h);

| printf(" %f  %f \n",x2,f(x2));
i Simp=Simp+ 4*f(x1)+2*f(x2);
C )

| printf(" %f  %f \n",xn,f(xn));
b PFNEf (" == mmm s e \n\n");

I Simp=(h/3)* simp:

| printf(" Vaue of integral is %6.9f\n",Simp);
'oprintf("------------- Direct Error-------------------------- \n\n");
! Direct_error=fabs(True _vaue-Simp);

| printf(" Vaue of Direct error is %6.6f\n",Direct_error);

I

I
|
|
|
|
|
|
|
|
|
|
|
| printf("  %f %f \n" ,x0,f(x0)); I
|
|
|
|
|
|
|
|
|
|
getch() |
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A1 A8 355 o g9 B Lindii ¢ s Jll) g (3 ABaluas B g3 Sl L) L) g Sl) alua ¥ gl 10 (a sl ha JS )

H DATCWIN4AS\BIN\NONAMET1.EXE !E H

X ¥Y=x"21og({x)
1.008808 1.088808688
1.75808088 B8.571429
1.5000808 B.666667
2.258080808 B, Bl
2 .080008 a.-a004a0
2.758008 B.363636
2.5800088 A.48000808
3.08008088 8.333333

Value of integral is 1.898725319
————————————— birect Error----——-———-——————————————-

Value of Direct error is 0.808113

m o
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A1 A8 335 o g9 B Lindii ¢ s Jll) g (4 ABaluas B g 3 Sl Ll L) W g Sl aSaa ¥ gl 10 (e i)y JS

e et S— 5 Jlie

¢ a0l Adalaad) Claald zeld S|

i i=10

! z f*x

i 7= i=0

: i=10 , i

: Zox :

E 120 i

e e e e ]
Jall

i #include<conio.h> i
i main() :
L |
Point iz |
i float x[10],f[10],a[3].¥[4],sum1,sum?2,z; i
i clrser(): |
1 |

i suml=0;

I sum2=0;

i printf(" Enter the values of X & F: 'n"");

i for(i=0:i<=9:i++)

{

scanf("' %of Yof",&x[i],&f[i]):
afi]=x[i]*f[i]:
suml=suml+a[i]:
yli==x[i]™x[i]:

sum2=sum2+y[i]:

printf(f"k* RRRRRRRRRARAR YA RRARRAARNSRARR ***'\In“};
: z=(suml/sum2); .
i printf('""n The Z =[%f]",z): i
E getch(); :
1 1
1, ]

0
Qutput
B D:\TCWIN45\BINVAVG111.EXE - | x|
Enter the values of X & F: -
12345678908

3214768904

BESEBE 996 363 3638 S50 3C 536 3030 36 3¢ 30 36 3E- 3 S0 5E 3 36 3C 505033

The 2 =[8.777778]_

] Iy

AV g Laall B asly A Balaadl g (b gl ) Sl AiAY) g
M\wﬂ\&s@a*ﬂu,quéd\qh@wtﬂ\dmj
a4 Gag Gl Rl il g Adlaall g cpsallall A Jlg
_AJISJ,UA:\H;\.AAJJ?S,AGeMU Ol gy A Glaaly
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